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Numbers Greater than a Hundred Million

—
1
—

How to Express Numbers (1)

& J

<wInstruction Above the Ten Millions Place, there are the
“Hundred Millions Place,”
“One Billions Place,” “Ten
Billions Place,” and “Hundred
Billions Place”.

For example, 7676965000*
can be read as “seven billion,
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- | 0000009009 six hundred seventy-six
1{0i0{0{0i0i0i0;0;0f s . .
) million, nine hundred sixty-five
liojolotololololojolo ”
wlTTololo ol0lolololololop ~ thousand.

(*World population, 2021)

<@ S0 Write the following number in the table and read it.
4165132000 <tons> (*World crude oil production, 2020)

funaea] T | ove [Aunasa] en | one |vimaea] on | ove
o |
Siions iions Thousands 4
4 1 Je]s5 ] 1 JT3aJ2]o]o]o"

I
‘ Four billion, one hundred sixty-five million, one hundred thirty-two thousand. ‘

Write the following numbers in the table and read it.
@ 4006737000*

o] e[ ov ] o [ . ] [0

Tens | Ones.
<tons> Billons. Milions Thousands

(*World oil consumption, 2020) [ T4fofofé[7[3]7]0fof0

‘ Four billion, six million, seven hundred thirty-seven thousand.

e o[ e i o [ o] 7 [

© 13497299000

Tens | ones
<ha> Bilons Vians Thousands

o

0jo0

(*World land area, 2019) ‘ ! ‘ 3|4 ‘ 9 ‘ 712 ‘ 9 ‘ 9

‘ Thirteen billion, four hundred ninety-seven million, two hundred ninety-nine thousand.

Numbers Greater than a Hundred Million

1 = 2 How to Express Numbers (2)

& J

~ (30019 The following number represents the world population
(2021). Write the number in the table and read it.

In many countries, the comma () or space are added every
three digits to make it easier to read, like 7,676,965,000 or

7676965000 7 676 965 000.

o] o[ ove [maes] ton | o [ruraa] [ o

Tens | Ones
Bilions. Miions Thousands

I [7]6]7]6]9]6]5|0o]o]o
Seven billion, six hundred seventy-six million, nine hundred sixty-five thousand.

The following numbers show the population of countries with the
largest population in the world (2021). Write the numbers in the
table and read them.

@ China 1439300000  <people>
@ India 1380000000  <people>
€  America 331000000  <people>
@ Indonesia 223510000  <people>
© Pakistan 220920000  <people>
@ Brazil 212600000  <people>
unaea] Ton | one [runaea] Ton | one [runsea] Ten | owe 1.
@ china [ J1[4]3]9[3J0J0]0]0]0

One billion, four hundred thirty-nine million, three hundred thousand.

O i [ [ [3][8]0]0]0]0]0]0]0

One billion, three hundred eighty million.

OAmerica ‘ ‘ ‘3‘3‘\‘0‘0‘0‘0‘0‘0

Three hundred thirty-one million.

OIndonesia ‘ ‘ ‘2‘2‘3‘5‘|‘0‘0‘O‘0

Two hundred twenty-three million, five hundred ten thousand.

© Faisan | | ] [2]2]0]9]2]0]0][0]0

Two hundred twenty million, nine hundred twenty thousand.

O sl [ [ T2J]1J2]6J0J0J0JOTJO

Two hundred twelve million, six hundred.

Numbers Greater than a Hundred Million

I = 3 How to Express Numbers (3)

& J

< [3EnIE Write the following number in numerals in the table.

One billion, seventy-nine million, two hundred fifty-two
thousand, eight hundred eighty*. <km> (*The distance light travels in
one second)

oass | or | o [Famea]_on [ o [rumsea] 7o [ v

Hundreds | Tens | Ones
Billons. Millons Thousands

I [T JoJ7J]9]2]5]2]8]8]o0

Write the following numbers in numerals.

) Two hundred sixty-one million, two hundred thousand* <people>
(*The population of Nigeria is the 7" largest population in the world, 2021)

Hundred ‘ Ten

One | Hundred

Ten

One | Hundred ‘ Ten

One

Hundreds| Tens | Ones
Billions. Millions Thousands

| ] 2J6f1 270

0]0]0]O0

O Eight billion, two hundred eighty-three million, three hundred
thousand* <people> (*Number of mobile phone subscribers worldwide, 2021)

Hundred‘ Ten | One [Hundred| Ten | One Nundmd‘ Ten | One

Hundreds| Tens | Ones
Billions. Millions Thousands

| [s]2]8[3]3]o

010010

&) One billon, six hundred fifty-three million, one hundred
thousand* <km> (*The estimated distance between the Earth and Saturn)

Hundred

o [ ore [rumses] 0 [ ono [rames

[ o

Hundreds | Tens | Ones
Billons. Milions Thousands

| JrleJs]s]1JoJoJo]o]o
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Numbers Greater than a Hundred Million

1 = 4 Structure of Large Numbers (1)

- J
Focus on each individual

< [3ElIE . Write the numbers in thel:l. number. Otherwise, there ,l

could be many answers. 'S\.ﬁ:g./"

@) 240000000 is made of hundred millions and en

millions.

(2) 3457000000 is made of 3 one billions, 4 hundred millions,

5 ten millions, seven one millions.

. . l:l Focus on each individual number. Otherwise,
Write the numbers in the “  there could be many answers. &

© 453000000 is made of [ 4 |hundred millions, [ 5 |ten millons,
and one millions.

@ 6520700000 is made of E one billions, hundred
millions, ten millions and hundred thousands.

©) 32568000000 is made of ten billions, one billions,
hundred millions, E ten millions and one millions.

0 is 8 one billions, 2 hundred millions and 6 one

millions.

© | 24560070000 |is 2 ten billions, 4 one billions, 5 hundred

millions, 6 ten millions and 7 ten thousands.

o 720205000000 | is 7 hundred billions, 2 ten billions, 2 hundred

millions and 5 one millions.

o) Youneed to look at the table on the | I |
right to solve those problems. CIr T rrrrrr1rr1rr11

U

Numbers Greater than a Hundred Million

1-5

<wInstruction| |t is possible to tell the structure of large numbers
by their main units, such as “billions,” “millions,”
and ‘thousands.”

Structure of Large Numbers (2)
"

vunrod|_Ten | one [runes] ten | ove [runarsa] Ten | ome
Hurdscs | Tons | Onos
Bitons ions Thousands
I [3]4[85]7]0oJoJoJo]o]o

For example, the number above is made of 3 one billions, 4
hundred millions, 5 ten millions and 7 one millions.

We can also say that the number is made of 3 one billions and
457 one millions or 3457 one millions

<»[3EnE Write the numbers in the I:l .

€ 240000000 is made ofn millions.
© | 3457000000is made of 3457 one millions.

Write the numbers in the l:l .

o 453000000 is made of one millions.

@ 6520700000 is made of | 6 |one billions and one
millions and one thousands.

€ 32568000000 is made of one billions and one
millions.

@ | 8206000000 |is 8 one billions and 206 one millions.
© | 720205000000 |is 720 one billions and 205 one millions.

Numbers Greater than a Hundred Million

1 = 6 Number Line
- J
< [EE0E Write the numbers in the| .

0 100 200 300 400 500 600 700 800
million million  million million million million million million

[ 50 milion | [250 million| ~ [510million| 780 million

Write the numbers in the l:l . How much does the smallest tick P ﬁ s

mark show? s
@ o 100 200 300 400 600 700
million  million  million  million million  million

[ 150 million |[310 million | {500 million] [ 690million |

(2 I 10 30 40 50 60 70
billion billion  billion  billion  billion  billion

[ 20 billion | 35 billion | [ 52 billion | 67 bilion |

O . 500

billion

100 billion ] 250 billion [400 billion [ 550 billion] [720 billion|

(4] 5 billon 10 billion
\ | \ | \ | \ \ |

1 t 1 t
[4bilion | [6bilion|  [8billion | [11 billion]
e 50 billion 100 billion
| \ \ | \ | \ \ |
1 1
[40 billion] [70 billion]  [90 billion] [120 billion]

Numbers Greater than a Hundred Million

1-1

<»[3€0I5 What is 10 times as much as two billion, five hundred
million? Then, what is |0 times as much as that
number? Read these numbers.

L Structure of Whole Numbers (1)

| | o [P ]_en[ o [rred ] en [

Tens | Ones
Bilions. Milions ‘Thousands

2 510 ojoioiojlo
P 5 0io0 ojoioio]o
275 1 0 0io ojoioiojo

10 times the number | Twenty-five billion WiEnaiEb
is increased |0 times as

much, its digits move

100 times the number | Two hundred fifty billion ::;.(: i (i) one

Write the following number, the number multiplied by 10 and the
number multiplied by 100 in the table. Read them.
) Six billion, seven hundred eighty-nine million

100 times

o

o

Furdea]_Ton | one [rriea]_ran_| one [rured] e[ o
| e

e iors Trowsands
Original [ 16]7.81 91010 0]010:0
10 times T A - T B I R )
100times [ & 17 B0 00O 0000

|0 times the number ‘ Sixty-seven billion, eight hundred ninety million. ‘

|00 times the number‘ Six hundred seventy-eight billion, nine hundred million.

@ Three hundred four million, five hundred thousand

Furdea ] Ton | one [rried]_Ten | one [rured] e[ o T
ions iors Trowsands

Original 1 3014051010101 0"0

10 times TSI 0 4 B 00 0 [0 0.0

100 times N - T O T )

|0 times the number ‘ Three billion, forty-five million. ‘

|00 times the number‘ Thirty billion, four hundred fifty million. ‘

JICA_4%_fREMRER_P002-046. indd 3

2022/02/25

15:30:1




<» 305 What is two billion, five hundred million multiplied by

Numbers Greater than a Hundred Million

1 - 8 Structure of Whole Numbers (2)
(=

Lo
0

o] | v [ [ o [rared]_en [ o

Sions ions Trousans
2 510]0j0 0]0 0
275 0 0]oioiololo
25 o i oio]oioio]0i0i0 otmes

T times

When a whole number is multiplied by |0, its digits move up and to the
left one place.

When a whole number is multiplied by % its digits move down and to

the right one place.

Using the chart, multiply each whole number by 10 and uE

0"
@ 6352000000

s e | ore [rmaea] v | ome [rarowa] v | o
Hundreds | Tens Ones.
Bions ilons Thousands s
6 1315 |2 010|010 !0/
Jtimes
61315 2]0i0 0[]0 0:0Ki
6 3|51 2i0]0 0io0oloio o0 <:,ft|ig'es
6 315|270 0]0i0i0]0 010 mes
@ 3170256000
ronaea] | ore [rmaea] o | ome [raraa] o | o
Hundreds |  Tens Ones
Bions Wilons Thousands s
3 1 7|02 561000
itimes
3|17 02 516|000
3 1 ]7i04i2]5 1610|0100 <:,ft|ig'es
3 117012 5]61i0170]0 1010 Mmes

Numbers Greater than a Hundred Million

I - 9 Structure of Whole Numbers (3)

& J

<=[3EnIE Write the following numbers.

@ Whatis 6 billion times 10? ‘ 60 billion J

© What is 23 billion times \LO ? ‘ 2 billion 3 hundred miIIior? ‘

Be careful about the units for some af@\
problems below.

|30 bilion (30000000000) |

Write the following numbers.

What is 3 billion times 10?

What is 28 billion times 107 ‘ 280 billion (280000000000) ‘

Whatis 37 billon times 107 | 370 million (370000000) |

What is 150 million times 10? ‘ | billion 500 million (1500000000) ‘

What is 823 million times 10? ‘ 8 billion 230 million (8230000000) ‘

What is 50 billion time % ? ‘ 5 billion (5000000000) ‘

Whatis 7 bilion times 5 2 700 mition (700000000) |

What is 300 million times % ? ‘ 30 million (30000000) ‘

© ©6 ©¢ 6 6 6 © © o

What is 2 million times % ? ‘ 200 thousand (200000) ‘

<305 Compare the following two numbers and write the

Numbers Greater than a Hundred Million

Comparing Numbers

appropriate sign ( < or > ) in the .

It becomes o

o 253946000 200345602
you write

the numbers | — = = =

in the table
below.

Compare the following two numbers and write the appropriate sign
(<or>) inthel:|.

@ 562130000 462|3000OO

]

]

T2 0100
P24l 0i0i0

© 65398720 | > [ 75239999
T e O

© 3219865000 3569865000

i on | o [prima] 7or_ [ o [rrna] o [ o

eaons

T3]21119]81615]0i0
is]sifeiafeiéifs]oioio

@ 678100863645 7‘?‘?2\034002

10388584982 10388584982

@ 340670890000 2406708‘?00000

)

Pay attention to

®

how many digits
are there in )

each numbers. L

Numbers Greater than a Hundred Million
1 - 11 Multiplication of Large Numbers (1)
-
<» (305 We played a game of choosing 6 out of 10 cards from
0 to 9 to make two 3-digit numbers, multiplying these
numbers and finding the answer. And we made the
numbers 356 and 478.
== anar Line up the numbers vertically in each
x 4“:" 8 place. This seems difficult.
284]8 356 X § = 2848 Howevenitanbe.
done by using previous
B B T T ) knowledge. That“+" is
. :}\»g}g 356 x 7 = 2492 not necessarily written.
278 48 (This is actually 356 x 70 = 2492)
214912 0=Lmxm)
R 356 X 4 = 1424
N (4247”8 (This is actually 356 X 400 = [42400)
MM Do the addition.
N - 2848 + 24920 + 142400 = 170168
@1 42400
11701 6/8% 356 x 478 = 170168

In the above game, we made the following numbers. Write the

correct numbers in the |:| .
0 [

58 2 6 20

X 34 9 X 8 5 3
[5][2][3][8] [11(8][6][0]
[2][3][2][8] O [31[1][0][0] 0
+[1[71[4][6] 0 0 +[4][9][6][0] 0 O
2. 03 1 1 8] [5 2 8 8 6 0]
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Numbers Greater than

=12

a Hundred Million

Multiplication of Large Numbers (2)

HExample)]

In the previous game, we made the numbers 542
and 307. How can we calculate 542 x 3072

[ T TG Thnies] Tens | Ones Line up the numbers vertically in each
place.
51412
542 x 7 = 379
X 31017
2 ?#XQ:O blem if you do not writ
ere is no problem if you do not write
3:17:9 4‘5\ 542 %7 this calculation.)
0:0{0{0}0-==2x0]) 542%x3=1626
. (This is actually 542 x 300 = 162600)
+i116i2{6i0}0-552x) pgine addition.
‘ 1166 3. 9 45( 3794 + 0 + 162600 = 166394
542 x 307 = 166394

1_1—' In that game, we made the numbers 937 and 204, and the

numbers 789 and 506. Calculate 937 X 204 and 789 X 506.

O [L*EE[

[ | @ BEE<EH- svo |

~[3¢1:15 2 Think about how to calculate 5400 x 320. ﬁ

X

0{0
0

+i

(N A~

|

\

|
AN
6 T

N O|lw o

7:2:8[0i0i0

54 2

54 x 30

5400 x 320 = 54 x 100 x 32 x 10
=56 x 32 % 100 % 10

=54 x 32 X 1000
= 1728 % 1000
= 1728000

4
2
8

oo oflw o

|
+ili6
17

8

Multiplication of numbers with O at the end is calculated by
omitting 0. After calculation, O is added to the right of the
product by the number of 0's omitted.

1_2—1 Calculate the following multiplication problems by using the

algorithm.

@ 4800 x 630 =| 3024000 | @ 9400 x 870 = 8178000

an a Hundred Million

Review

l_l—' Write the following number in the table and read it.

2978982000 Hundved‘ Ten ‘ One Hulvdved‘ Ten ‘ One Nundred‘ Ten ‘One
Tens | Ones
<tones> Billons Milions Thousands
(World grain [ J2]9f7]8]9]8]2]0]o]o

production, 2019) yy5 pillion, nine hundred seventy-eight million, nine

hundred eighty-two thousand.

1_2—1 Write the following numbers in the numerals in the table.
One billion, seven hundred nine million, eight hundred twenty-

five thousand.
<ha>

Hunﬂmﬂ‘ Ten ‘ One H\mﬂwﬂ‘ Ten ‘ One Hunﬂreﬂ‘ Ten ‘ One

Tens | Ones

Billions Milions

7]0]9

Thousands

g[2]5]0]o]o

(Russia’s land area, ‘ ‘ |
the largest land
area in the world,

2019)
1_3—1 Write the numbers in the l:l .

5 billion 10 billion
| | | | |
3 billion 7 billion

| | |
l_ln—' Answer the following questions.

@ What is 560 million times 10? ‘ 5 billion 600 million (5600000000) ‘

© Whatis 7 bilion times - 2 700 milion (700000000) |

1_5_' Compare the following two numbers and write the appropriate
sign (< or>) inthe|:|.

@ 230569000 | 120569000
@ 1000000000 999999999

1_6—] Ca'lculate the following multiplication problems by using the
algorithm.

@ 135 x709=| 95715 @ 5900 x 280 =| 1652000

12 13
Division Algorithm-1 Division Algorithm-1 h
Z = 1 Division Algorithm (1) 2 = 2 Dividing Multiples of 10 and 100
|
<e[FELE Calculate 48 + 9. <@ [FELE 1 Calculate 60 + 3.
R Think of how many Tors [ones| - Mltiply 9 by 5. s 6+3=2 If 6 sheets of paper are divided equally
s is there in a 48. 5 Wite the s l 10 times 10times among 3 children, each child will get 2
(Divide 48 by 9) 9 ) 4 8 answer s, 0 = 3 = ‘ sheets of paper (6 + 3 = 2).
q ) 4 8 in the aligned ' © ; © S
/ - 4 5 place below 48.
dividend D
Tens [One7 Write the quotient Now 60 sheets will be divided equally among 3 children. We
5 quotient, 5, in Tens [Oneg|gPSubtract 45 from [ can think that 6 bundles of 10 sheets will be divided equally
—a - 48. g among 3 children.
q j 4 8 the ones place. ‘ 5 ‘ g
e q ) 4 8 The remainder is l_‘l—l Calculate the following division problems.
2 s 3 040+2= Oqo+3= 960+2=
This “—" is not necessarily 9= 7= 4= .
written in the algorithm. 3 8+ 7=5R3 G 70 =7 e 240 + 4 o 450 =5
0560+7: 0300+6= 0560+8:
Calculate the following division problems by using the algorithm.
@37+5 032 ©is=9 Oes+8 e 3En;IE 20 Caleulate 600 + 3.
— — - — 6 +3= 2 600 sheets will be divided equally
R E Rm Rm l‘oo times l‘oo times 2MONg 3 children. We can think of
Tons | Ones Tons [Ores Ters [Ones Tens [Ones this as 6 bundles of 100 sheets will
7 6 5 8 600 = 3 =|2004 be divided equally among 3 children.
537 2)13 948 8)65 Gl et o
-35  -12 -45 64 ==
2 | 3 |
0257 0356 Q194 02:3 1_2—' Calculate the following division problems.
030;7 @47;5 073;8 ®4|;7 © w0+ 2=[200) @ 00+ 4 =|200] © 500+ 3=3
ol 3r: 0] sr2 @] ¢r3 O] 7RI 0 50 +5=[100] @2700 + 3 =[900] B 1600 + 4 =
0| 3r3 |@ 9r¢ |@] 9rI |®] sRE @2100 = 7= 03000+5= @000 +2=
14 15
46. indd 5 2022/02/25
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Division Algorithm-1

(2-3

Division Algorithm (2)

< [3EnIE Caleulate 69 + 3.

] Divide 6 in the tens
i2i | placeby3 (6+3=2).
3)69

Write the quotient, 2,
in the tens place.

Multiply 3 by 2 (3 X 2
T4 =6).

3)6i9 (Thisisactually 3 x
6 20)
' ' Write the answer, 6,

in the aligned place
below 6.

3)6 g Subtract6 from 6.

T Lo _ Wiite the answer, 0
A i in the aligned place
below 6.

" T eoe|d sus) ey} Jo UonEINOED
soe|d S8UO 8} JO UOlEINOIBD

Although “0” is written to understand this
calculation easily, this “0” is not necessarily written.

Bring down the 9 from
the ones place.

~—
o
2
3
g
H
5

Divide by 3 (7 + 3 =
3).

Write the answer, 3, in
the ones place.

Multiply 3by 3 (3 x 3
Write the answer, 9,

in the aligned place
below 9.

Subtract 9 from 9.

Write the answer, 0.

[oenans }—— Kdnnw

69 + 3 =123

@48+2 @93 =+3 @84 +4

3

's [ Ones

g

s [Ones

Calculate the following division problems by using the algorithm.

@55 <5

8 4

5

N
~
Ol BN

3

3)93  4)
9
0

O|00 00N

|
oo O —

Division Algorithm (3)

<w[3€5 Calculate 72 + 3.

Divide 12by 3 (12 + 3

Divide 7 in the tens - _
[=E= placeby3(7+3=2 24
2. | RI)(Thisis actually 3)7 2 Writethe quotient, 4,
g? 3 W 70 +3). - 6 in the ones place.
a T T iior "
g—) Write the quotient, 2, |3 o 1121 muttiply 3 by 4 (3
= v-2- 5= in the tens place. 8|y 4=12)
= i z —
o | 3)7 2 Mutiply3by2@x2 (Z)|§ |
= ) 67 =o(hsisactaly |E|[2 24
3 P 3 20), g[8 3)72 3
z Write the answer in = o - i6
=3 =] the tens place. = 12
2 = 1 I
o @ 1i2 ks
13 Subtract 6 from 7 S Number of objects in each group.
@ o 218 72 s divided into 60 and
(Thisis actually 70-  |g | |@ o
60.) sle = |2.Then 60 is divided
Write the answer in 2]|8 214 by3and 2is divided
the tens place. I @ 3)7i2; by3.
2 - i6
3
e 12 ysubtract 12 from 12.
Bring down the 2 2 - 1112
from the ones place. (3 0f 72+3=2

Calculate the following division problems by using the algorithm.

@68 +4 @s7+3 @76 +2 D9 +8
©54+3 @75 +5

q @a6 =6 s =2

7 Q14 ©si=s

3
H

Tens

8

4) 3)

|

N N~ OV —
|

N NO|ON 00N

g _ 3 0|30 12)0|180]|!5
0 0

Q16|04 @] 190 14

16 17
Division Algorithm-1 ) Division Algorithm-1 h
Division Algorithm (4) 2 = Division Algorithm (5)
- J - J
<»3EE Calculate 76 + 3. <w[3€5 Calculate 83 + 4.
_ ____ Divide 16by3 (16 +3 =E=  Divide 8 in the —
Divide 7in the t B - 2 Bring down th
I = place by 3 (1 £ 32 2 25 =R 4)813 }3”3 Taiegl;y ¢ o 20 3fommeones
g? SW RI). éjz 6 Write the quotient, 5, o ) . g—, fjg 33 place.
g "1 Write the quotient, 2, (5 16 in the ones place. % Write the o 013
g _ inthe tens place. ° 2 quotient, 2, in the g " Divide 3b -
= o] y 4 (3 =+
S | Multiply 3by 23 % 2 (% E" Sttty 365 2 = tens place. =3 4= 0R3).
=0). s =] ultiply 3 by 5 (3 x > : E3
o e (Thisis actually3 x |5 ||| 25 =) <3 Multiply 4 by 2 s Write the quotient
o 20.) <J|S| 3)7/6 write the answer in the = (4 x2=8). S . 0.in th ’
a Write the answer in o 6 aligned place. o (This is actually o) s [ , in the ones
] b=l the tens place = onear 5 4% 20.) 2 2.0] place.
z = ' CIERYE F ' IR o
o Subtract 6 from 7. v)|8 o m’ 8| — (8 | Theremainderis
8 oA 188 8| 2 Subtract8from [ K
L i i 2|z 4)8137 8 A
;’r‘(g‘fe:";epfa”:e“_’e’ in I 5 55| Subtract 15 fom I6. _’8" (Thisis actually 83 +4=20R3
= L8 5 The remainder s . — 0 8- 80)
2 ES -6 L Itisa 0.
3 j7g’ Bring down the 6 @ 16
_T6 from the ones place. ‘%,1 BRI .
16 e T T Calculate the following division problems by using the algorithm.
041+ 2=[0]R[ 1] @83 + 4=[a0]e[3]
Calculate the following division problems by using the algorithm. T —
079 =3 : Q-5 0Ow-=2 )20 )28
2)4 | 4)8 3
(B[] -[ER[z] 0m+1  om-s3 2): g8
@55 +2 86 =6 | 3
Tors [ores Ters [on
3)32 4>32 ©n2s OH=+s 003 ©75+7 0189 @8 =2
_6 _'8 O54+5 ©al +3 ez +4 @o5 =6
(3) 12 o 49 (s 12 0 25
I 9 | 4 R2 RI R5 R2
©| 20RrR2 |@®| I0R5 |€@]| I0R8 |@| 4ORI
- 18 - 12 ol7le "ol ol
| 2 RI R2 R4 R4 ©| 10R4 |@M| 30R!I |@| 20R2 |@| I0R5
18 "
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Division Algorithm-1 D
2 - 7 Checking the Calculation
- J

~ (3019 Calculate 76 <+ 3 and then check the answer.

mens jones| | we calculate 76 + 3 using the division algorithm,
2 the answer is 25 RI.
3)76 7% + 3 = 25 Rl
nll(* e
| 6 3 x 25 + | =76
- 15 = : : —
| ‘ Divisor ‘ X ‘ Quotient ‘+ ‘ Remainder ‘ = ‘Dlwdend‘

I w

76+3=[25] R| I]
|
Check: |3Xx 25+ | =76 —

Calculate the following and then check your answers.

D73=2 @91 =2 @0 =7 @80 =3

a]rl ] s]r[1] refr[] ]

Check Check

25
76 ¢
6

[GE-N

<3 There are 50 chocolates. If 3 children share the

Division Algorithm-1

Division Problems (1)

(2-8

chocolates equally, how many chocolates will each
child get and how many will be left over?

50 chocolates
[ chagolates Remai@ Lol
Chocolates | i i | 6
Chil t 4 4 4

hlldrené ﬁ + : 3 ) 50

Math sentence 50 =~ 3 = |6 R 2 - 3
Answer 16R2. 20
Each child will get |6 chocolates and 2 | 8
are left over. 5

Check 3 X |6+ 2 =250

l_l—] There are 50 pieces of candy. If 4 girls share the candy equally,
how many will each girl get, and how many will be left over?

50 pieces of candy
Math sentence @es of candy Remamm

|

B0 + 4 = |2 R2 el 4)5
! 4

|

i
+ + +
| 2 3 4 -

Answer 12R2.

Nl o o|Nff]

Tens [ Ones Tens [Ones Each girl will get 12 pieces and 2 are left over.
36 L5 ‘7><I2+6=90H3><26+2:80‘ _
2)73 2)73 Check 4 X [2 +2 =050
- 6 - 8 1_2—' If an 85 cm ribbon is cut into pieces measuring 8 cm each,
BE) B how many pieces can we make in total? How many cm of ribbon
— 19 - 10 will be left over? o 85cm o
| ‘6><I4+\:85H4><\5+2:62‘ Math sentence e e e e e e e
076+5 qu—S 85_8= |OR5 0 I 2 3 4 5 6 7 BHZOTLO
Check Check _ _ Answer |0R5. We can make |0 pieces and 5 cm will 10
2><36+\:73H2><45+\:Q\‘ - R - be left over. 8)85
Check Check 80
‘5><|5+\:76H8><\2+2:478‘ Check 8 X [0+5=285 5
20 21
Division Algorithm-1 h h
Z = Division Algorithm (6)
- J J
< [3E05 Calculate 734 + 5.
- . [[] FE=E Divide 3¢ by 5. 1 ivide 6 by 3. [ ivide 19 by 3.
9 all:ilg;etzséfc;ﬁen( | 5}‘73%’ \?\;:iltdeelhe l;{;otienl, g - Wr;td:(hebéuotiem.z 3 \?V“r’ilzeelhe gﬁo(ienl, 6,
g 5 in the hundreds place. 2y 6, in the ones place. % i in the hundreds place. - ! in the ones place.
. : " 2137 Multiply 5 by 6. 2 . Multiply 3 by 2. T Multiply 3 by 6.
Multiply 5 by |. ol - ! E " (Thisisactualy 3 x 200) |2 .
% 5 Wzie‘?:é.“a”% X 100) % 2 g é Write a 30. g S\rl?itea 6‘ lly ) g ,,%g, Write an 18.
5| 8)T 34 ﬁﬂEf!Z’ifuZ.fJ‘%o"o‘fsoo.) 5 g g(;ubuact 30 from §7 ?r?ilsﬂi:aagfugllc'gir)g R 600 ; ;
Bl =35 Brmeownmes 2|18 & ' u reee Rubtact 1 om 19
[] &= fomtetenspace. |5]|8 o 237 Theremainderis ¢ Bring down the | 3 3}? leal.
5¥T34 37 e ® from the tens place. = 7%T77 . .
2| 75" | Divide 23by5. O Bb TEs- R g ] T The remainderis .
5 2i3] | Write the quotient, 4, This“—" is not necessarily 3 Divide | by 3. = N
] 2;! ml‘g;ﬁ;‘g g'afe‘ - written in the algorithm. a (I +3=0R3) £ 118 619+ 3 =20 RI
3| EE aneis attzaly 5  40) e il S, e 5 d :ﬂ’?r:: :Sﬁsq:g;m' UL '
5| 5)734 Witea2o. % omited. H Multply 0 by 3 g
° — g o rite a U. g
H 2 3 Subtract 20 from 23. Check the answer: 8 %ﬁérgﬁmfrom . Check the answer:
- 20 = e o Fy
L e Ramones pace. |35 5 x 146 + 4 = 734 - s anes e, |28 3% 206+ | =619
Calculate the following division problems by using the algorithm. Calculate the following division problems by using the algorithm.
@89 +6 @991 +8 @75+3 D625+ 4 @923+3 @870+-8 @613+2 D547+5
| 34 123 307 1108
6)8067 8)<7C7| ©873+5 @579 =2 3)q23 8)870 835 + 4 D647+ 6
6 8 9 8
20 K @797 +6 @3B +2 02 07 @03 @732+7
| 8 I 6 0 0
29 31 @437+3 @ss3=3 23 70 @9p2+9 (@sn=4
2.4 2 4 21 64
5 7 2 6
@) 134R5|@|123R7|@|238R | |@| 156R | |@| 174R3 @[307R2|@|108R6 || 306R | |@| 109R2 |E)|208R 3
O|289R 1 |@|132R5|@|175R | |@] 145R2 ()| 294R | O] 107R5|@|203R | @] 107R3|€)]| 105R7 ()| 206R |
22 23
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Division Algorithm-1

2 = 11 Division Algorithm (8)

& J

~ (3 el Calculate 721 =+ 3.

Divide 7 by 3.

Divide |12 by 3.
Write the quotient, 4,
i Write the quotient, 2, in the tens place.
in the hundreds place. P
Multiply 3 by 4.
(This is actually 3 x 40.)

i i Multiply 3by 2. = Write a 12.
21T (Thisisactually3 x 200) |
i Writea 6. g Subtract |2 from |2.
' < (This s actually 120 120.)

Write a 0.

60e(d SU} ) Jo UOjeINOleD

Subtract 6 from 7.
(This is actually 700—600.)
i Writea |.

59e/d SpoIPUNY 84 1O UONEINaIED

Bring down the |
i i from the ones place.

i Bring down the 2 Divide | bg 3

from the tens place. (I +3=0RI).
Write the quotient, 0,
in the ones place.
Write a 0.
Multiply 3 by 0.
Subtract | from 0.

Write a |.
The remainder is |.

T 720+ 3 =240 RI

[20eid souo o jo oneinaes |

A
£
g
8
a
@
2
3
g
g
5
E
5
z
=
H
E;

[ s

Check the answer:
3 X 240 + | = 72|

Calculate the following division problems by using the algorithm.

@8I2+3  @704+5 @uss2+4 (845 =7

??F TY?
3)8|2 5)704 785 +6 @967 + 8
6 5
21 20 @871 +3 @521 =2
2.1 2.0
2 4 704 = 5 922 = 4
5 5 (9] (10)
2 4
@|270R2|@| 140R 4 |€)| 120R2 |@| 120R5 |@]| I30R5
O 120R7|@[290R | |@|260R | |€]| 140R 4 || 230R 2

J
T Calculate 214 + 6.

[g] EE=FE Divide 2by 6. Il Bring down the 4in (@
g 0 [ i writeaOinthe 672717 the ones place. E
2| 6)2 114 hundreds place. (There 2
S 0 i no problem if you do not 40i | i g
z write this 0.) 2i1 El
E L . Bl
H Multiply 6 by 0.

H | Writea 0. =| | = Divide 34 by 6.

211 10} . Write the quotient, 5,
= Subtract 0 from 2. Z[|2| 6)2iTi41 in the ones place.
5 Write a 2. gllg| Vo
éjg 14 Bring down the | in ElE 21 M".Itiplég by5.
4L L L the tens place. S||8| L8 i Writea30.
211 =41 31
I gl|8 310
gl 0 S)E %(
g 03¢
5| 6)2 Divide 21 by 6. Bl Subtract 30 from 3.
o| G0i i | Write the quotient, 3, |3 6)211141 Write a 4.
5 21 in the tens place. ° S0i i
g s 21
@ Multiply 6 by 3. i i
H (Thi 1 attual 6 30, H 77‘%77 The remainder is 4.
8| ¢Y2il 4 Writean I8. :ﬁ 30
0 T 4] 216+ 6=35R4
: L 4
f s Subtract |8 from 21. Check the answer:
_1i8i i (Thisis actually 210 x 180.) 6 X 35+ 4= 214
[ 3 Write a 3. -

Calculate the following division problems by using the algorithm.

Dig+6 @367+7 @D29+:3 236
6)|§§ 7)323 @23+4 @198+5
?6 gé @739 -8 @598 +9

|2 35
ig : g @66 +7 ©493+6

@ 28R |@| 52R3 |@] 89R2 |@| 39R | |©| 65R3
O 39R3 |@| 2R3 |@| 66R4 |€)] 89R3 || 82R |

24 25
Division Algorithm-1 h Division Algorithm-1 h
2 = 13 Division Problems (2) 2 = 14 Calculations with Times as Much (1)
- J -
<w[3Ei15 575 sheets of coloured paper are divided equally <»[FEE An adult whale is 15 m long, and its calf is 3 m long.
among 4 people. How many sheets of paper will each How many times longer is the adult whale than its calf?
person get? How many sheets of paper are left over? 15m
Adult whale T T T ]
e, s " -
@ Remai@ | 43 . Calf‘b‘ ‘
Co\:::’e: f i T T — 4) 575 (‘) : l__‘_lt\mei/
People | + + + ] 4 . .
0 i 2 3 J Math sentence |15 = 3 =5 Answer 5 times
Math sentence 575 =+ 4 : Z The adult whale is 5 times longer than its calf, Five times means
43R 3 that if we consider 3m as |, 15 m will be 5.
Answer R3. I'5
Each person will get 143 sheets and 3 are left. | 2 Answer the following questions.
Check 4 X |43 + 3 =575 3 (1] My current weight is 36 kg. When | was a baby, my weight
- was only 4 kg. How many times heavier am | currently than
? o
l_l—' 323 sheets of coulored paper will be divided equally among when | was a baby? e S ) S S |
3 classes. How many sheets of paper will each class gitr’.ﬁ[ld Math sentence M@
how many will be left over? — — \
107 36 4=29 [ ames
- - 3)323 4= .
Math sentence 323 + 3 = [07 R 2 ) 3 Answer 9 times
Answer |07R2. 02 @ 1 have 45 pencils. My younger brother has 9 pencils. How
Each class will get 107 sheets and 2 are left over. 0 many times more pencils do | have than my brother?
273 45 pencils
Check 3 X 107 + 2 = 323 2| Math sentence Ml i
2 . Brother
o, T e . 45 +-9=5 7
12 ere are 286 pencils divided into packages of 5 pencils each. o (times)
How many packages we can make? How many pencils will be Answer 5 times
L " i e s SR
eft over 57 € There are 90 pieces of white paper and 9 pieces of coloured
Math sentence 286 +~ 5 = 57 R | 5)286 paper. How many times more pieces of white paper are there
Answer 57R . g 5 than pieces of coloured pape\rz.  a0pieses———
We can make 57 packages and | pencil will be Math sentence papey | ooos :
left over. 2 g z - Cogured
_ 90 - 9 =10 0 | Cl(times)
Check 5 X 57 + | = 286 3 -TJ Answer |0 times
26 27
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Division Algorithm-1
2 - I 5 Calculations with Times as Much (2)
J

&

<»[FEniE Aadult giraffe is 540 cm tall. Itis 3 times taller than
the baby giraffe. How tall is the baby giraffe?

% 540 cm

[Jem
Young giraffe E
1
J 0 | 3 (times)
Math sentence g, - 3 — |go Answer 80 cm

Answer the following questions.

o My sister is |44 c¢m tall. She is 3 times taller than when she
was a baby. How tall was she when she was a baby?

144 cm
i s S
height
|44 + 3 = 48 wense T

was a baby

Math sentence

0 3 (times)

48 cm

@ I have 90 pencils. It is 5 times more pencils than what my

brother has. How many pencils does my brother have?
90 pencils

|
Answer

Math sentence My pencils | T T T I |

90 5= 18 oo GG

I I I
0o | 5 (imes)

b I8 pencils

(3] My school library has 416 books. My school library has 8
times more books than my class library. 4I‘-écgmgnany books does

Answer

Division Algorithm-1
2 = 16 Calculations with Times as Much (3)

u

<» 305 A young lion weighs 22 kg. An adult lion is 6 times
heavier. How heavy is the adult lion?

Ckg

22 kg

l Young lion[ |

0 | 6(times)
Math sentence 99 6= 132

Use 132 + 6 to check your answer. Answer

132 kg

Answer the following questions.

My younger brother weighs |5 kg, and my older brother is 3
times times heavier. How much does my older brother weigh?

Math sentence Older %
brother 5k
|15 X 3 =145 Z%”«Rgf"ﬁ‘ ‘
0 | ‘
Answer

; (times)
45 kg

(2] My sister read 24 books last month. | read 4 times as many
books as she did. How many books did | read in total last month?

[Ibooks
wser )
24 books
My sister d

0

Math sentence

24 X 4 =96
£ (times)

96 books

@ lcuta35cm long piece of ribbon. The ribbon was originally 8
times as long as the ribbon | have. How long was the original

I
Answer

my class library have? Shool (77— ribbon? original Cem
o ook Y T ———
Math sentence Slse =5 Math sentence ::m Fon
416 + 8 =052 é i }B(Iimes) o | £ times)
Answer 52 books 35 x 8 = 280 Answer 280 cm
28 29
Division Algorithm-1 h Division Algorithm-1 h
2 = 17 Mental Calculation (1) 2 = 18 Mental Calculation (2)
- J J
e [3EIE 1 Caleulate 24 + 2 < (305 10 Calculate 240 + 2
24 =2 20 +2=10 ‘> ] There is 2 n the hundreds place
b = 2= 2 and a 4 in the tens place. Calculate 2% = 2 = |2
2% + 2. l o l o
After you get |2 as the answer, times times
AItOgether 12 puta gowgth: righz ;l thze iv\:mber,
oo . 4 which means |0 times. 240 + 2 = 120 )
| 7{ 7{ ?{ i 21
B — ' .' 20 + 2 = 120
[
Calculate the following division problems in your head. -
=90 = = 3= 4= Calculate the following division problems in your head.
48 +2=|24 63+ 3 48 + 4 12
0640+2— 955o+5= Ocqo+3=
0%+3= 082+2= 068+2:
0840+4= 0860+2= 0480+4:
< [3E0T5 2 Calculate 74 + 2
e U= 60 - 9= 30 e300 2 Calculate 740 + 2
You can't divide 7 by 2 b =2=17 o ere is a 7 in the hundreds place
without a remainder. Instead, - I:dzAin the :e:s :Ia:de. (dlalpclulzte 74 = 2 = 37
divide 74 into 60 and |4 Altogether 37 T4 + 2.
and divide both numbers After you get 37 as the answer, l 10 times l 10 times
a0 he right of the number,
SAT which means 10 gmes, %0 = 2 = 370
{ {
o — - '
Calculate the following division problems in your head. Calculate the following division problems in your head.
07é+2= 045+3= 095+5= 0'760+2—6540+3=9%O+4=
6 (9 G0 (9 60 @9 00+ 5 @580 2= 080 +3=
056“‘: 091 +7=[13] 08'+3: @630+ 4=[170] @650 +5=]130 | @780 + 6 =] 130 |
30 31
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JICA 4% _fREM

Division Algorithm-1
2 = 19 Review

LI—' Calculate the following division problems in your head.

3éo+4:

6q+3=
84%3:

QO+3: 250%5:

75 +5

%o+c=

LZ—I Calculate the following division problems by using the algorithm.
Then check your answer.

70 +3=|23R | 66 +4=|16R2

Ones Tons [Ones Tens [Ones

4)

2
3)7
6
|

N N O —
N[~ O [e3[e
-3

—| 0 O oW

603 + 5 =|120R 3

733 + c:

122
6)73 3
6
I3 8 |
| 2 6 9
3 27 26
| 2 2.4 2.4
| 3 2

Check | 6 x \22+\:733‘Check‘sz46+3:987‘Check‘3x238+2:7\6‘

L3<' 500 sheets of paper are divided equally among 3 classes.
How many sheets of paper will each class get? How many
sheets of paper will be left over? _su sneets of paper

Jsheets i froeea o
Paper i i i

Math sentence Classes | ——————+ | 3) é 8 8
500 + 3 = 166 R2° ‘ : : go
Answer 66R2. I8

Each class will get 166 sheets and 2 will be left over. 20

Check 3 X 166 + 2 = 500 -2

Lb—l | have 40 biscuits and my younger brother has 8 biscuits. How
many times more biscuits do | have?

"“"im '2 OO Math sentence 40 ~ 8 = 5
5)603 Answer 5 times
5 LS—' | have 72 pencils. | have 6 times more pencils than my brother
) has. How many pencils does my brother have?
|0 Math sentence
3 72+ 6= 12
Check‘ 4x203+2=8l4| Check ‘ 3x 308+ | =925 ‘ Check‘ 5% 120 + 3 = 603 ‘ Answer |2 pencils
32 33
\
- 1 <» 30D The graph below shows ground temperature every
How to Read Line Graphs two hours.
T it h: inad;
What was the ground temperature FrESEtIe Sanees LA
<wInstruction Let's compare the following graphs. at 12 p.m.? (©)
20
(people) Favorite colour ("c)‘ "I'e‘m‘perature change Both are bar graphs, m oC
and it looks similar...
At what time was the temperature
Look at the horizontal scale. 21 C? 10
The graph on the right shows
the time series. To show 2:00 p.m. 4
time-series changes, we can
HSI? anotherh representation, What was the lowest temperature HHHL
aline graph. .
and when was it? AM PM_ " (time points)
Temperature : E T Time point :| 6:00 a
Between which two time points did the temperature rise?
<wInstruction| Let's find how much the temperature changes in a day.
From| 6:00 a.m. |to| 2:00 p.m.
i 6am. | 9am. | |2pm.| 3p.m. | 6 p.m. - . . " .
Time am am p.m p.m p.m Between which two time points did the temperature decline?
Temperature | 7 21 23 2 21
(©) . . From‘ 2:00 p.m. ‘to‘ 6:00 p.m.
T changes in ada; __ Temperature changes in ada
(©) T ()
N Il
| 1 The graph below shows ground temperature every two hours.
20 = )
| Temperature changes in aday
E I What was the grand temperature
E H at6a.m.? 2
i - 0
i 5 At what time was the temperature
H N o
5 mm 18T ? 10
i B 12:00 p.m.
5 mm
e S L (ime points) ° I What was the lowest temperature
PM AM PM (time points) and when was it? v 02 2
It i (time points)
It is necessary to see changes o . .
®  Graphs like the one on the right is called 5inc 4 line graph. Temperature : C Time point :
a line graph. = . . . . .
O o dizpe of dio e diows hew A M ]m Between which two time points did the temperature rise?
quantities change. Increase No change Decrease From ‘ 6:00 a.m. ‘to‘ 12:00 p.m. ‘
34 35
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3 - 2 How to Draw Line Graphs (I)

J

\

<»(FEE 1 The graph below shows ground temperature every
two hours. Draw the line graph.

Temperature changes in a day Time AM. 6 ] 0 |PM. 12
() — —
Temperature
o 21 22 24 25
()
25
— ()
Femperature changes 713 day
2 © :
{
15 2 B e
20
10 5
0
5
Scales /’;M T Categories

Ll—l The graph below shows monthly temperatures for four months.

<w[3€00015 2 The table below shows the record of a baby boy’s
height from April to July. Draw a line graph using
the information in the table.
[Month [ April [ May [ June | July |
[Height (cm) | 8 | & [ 8 | 88 |
Boy's Height
(cm) XS TE9 A\ shows where part of the graph
has been omitted. This is one of the tips to
90 represent a graph more accurately.
Look at both line graphs below. Which
graph does the change look bigger? By
using/\/\/\.il makes easy to see the
change on the right.
15
10 x = ;
80 )
10
0 A
4567
(month) v o

Lﬂ The following table shows how a boy’s weight changed. Based
on this, the graph became as shown in A. Rewrite the graph on
grid paper B.

Draw the two kinds of line graphs with different scales. [month ‘ 2[*7 ‘ 2755 ‘ 2;’4 ‘ 2;7 ‘ 28q ‘ 2:2 ‘
\Month \September October \November\ December\ \W(i:ght @m‘h ‘ - m ‘ 'h h‘ d ‘ ‘ - ‘
o A low wel changes ight
|Temperature (C)| 28 23 | 7 [ 2 ] " 9 9 <B> ow weignt changes
kg ke
Monthly Temperature N <
() = 30 H 29
7
20 28
The graph has become long. F
10 .
Do you have any idea to make
the graph easier to see? 10 27 The same data drew ./
both graphs. b4
Shall we change unit for scale? i
5 8% 8 0 0
8 © =0 45 6 7 8 9 (mont) 456789 (month)
36 37

38

<»[@FEE An aquaculture fisher is considering feeding.

3-3

How to Draw Line Graphs (2)

The table below shows ground temperature and
water temperature. Draw the line graphs using the
information and answer the following questions.

Time points AM. 9 10 I PM. |12 | 2
Ground
temperature (C) '8 2! 2 = » 2
Water
temperature (C) 13 15 17 '8 2! 2
Ground and water temperature
() =
—— Ground temperature
1 i «---- \Water temperature
20 -
Use different styles
of lines when plotting
multiple lines on a
10 =
0 10T 12
AM PM

(time points)

When is the biggest difference between the ground
temperature and the water temperature? How many C is the

difference?
Difference: E c

When is the smallest difference between the ground
temperature and the water temperature? How many T is the
difference?

Time points:

Time points: Difference:

A man lives in country A and considering vacation to country B. The
table below shows two countries’ ground temperature each month.
Draw the line graphs and answer the following questions.

Month Jan [Feb |Mar| Apr |May|Jun | Jul |Aug|Sep| Oct |Nov|Dec
Temperature in
country A (C) 10| 1112 15]19|23]27|2925|20 ] 141l
Temperature in
country B (C) 23 124 (23121 (19|18 17|17 |18]19|20] 2l
(c) Ground temperatures in Country A and B
——= Country A
eee - Country B
20
10 |
o T TH \?\/«
§88285333583§8 ™

What are the highest temperatures in each country?

Country A: T Country B: T

What are the lowest temperatures in each country?

Country A: T

When is the biggest difference between the ground temperature
and the water temperature? How many T is the difference?

Month:

In which month are the temperatures in the two cities the same?

39
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<»[FEnE The graph below shows both the ground temperature

3 = 4 Bar Graphs and Line Graphs

in a line graph and the rain fall in a bar graph.

Ground temperature and rainfall

(C) from May to August in a cit; (mm)
Note that the units
15 180 5 and the amount of
& N
5 e S one markare different
i B on the right and left
32 10 100 sides.
T
3
8 R I &\
g s [T s b4
< L] [T Let’s think about what we
:I:: 1 i I can understand from the
ol B e
3

two graphs.

=3
2 3 3 E) (Month)
By using two kinds of graphs, you can see

the relationship between temperature

changes and amount of rainfall per month.

@ In which month did rainfall the most? How many mm did it

rain?
Month: Rainfall: mm

@) Choose appropriate observation on the graphs.

The amount of rainfall and temperature
are decreased from May to August.

When the temperature is the highest,
the amount of rainfall is the largest.

The graph below shows both the amount of onion sold at a city
market in a bar graph and the price of | kg of onions in a line graph.

Amount and Price of | kg of Onions sold in Country A

(kg) (zeds*)

1000 o 3

g

2 =

2 80 2

5 s

2 =

o o

‘:E, 60 5

3 500 3

NS £ g
20

R §5853388238 0 (month)

S=<23>2802z248

(* “zed (s)” is the fictional currency unit.)

@ Which month had the largest amount of onions? How much kg
of onions were there?

Month: Amount: kg

6 Choose appropriate observation on the graphs.

When the amount of
onions is not changed,
the price is decreased.

€ How much money was made by selling onions in June?

From Jun to August,
the price tends to be
the lowest.

A C

B | When the amount of
onions goes up, the
price goes down.

Math sentence How many kg of onions

If the temperature raises 300 x 100 = 30000 ::cr: v(«:;:ic:":erh:g‘: {fﬁ{
‘ the rainfall increases. ‘ B.C k-4
Answer 30000 zeds
40 41
I_3—I The graph below shows the amount of oranges sold at a city
3 - 5 Revi market in the bar graph and the price of | t of oranges in the line
eview graph.
]_I_‘ A boy recorded his body temperature to check his health on Amount and Price of | t of Oranges sold at a city market
the graph below. (‘c)Body temperature change in a day ® (zeds)
@  What was his body temperature 0 1000
at6a.m.? 37 @ —
‘ 36.4 |C 5 =
~ 5 & 800 -
o Q
@ When was his temperature s 0 1] 600 2
36.8TC? 3 | S
‘ 4:00 p.m. ‘ 2 5
3 < 40 s 8
H | | g
€  What was the highest 0 A EERE 2 200
it? 10,12 2 4
temperature and when was it? M oM (tme points) I I
Temperature : T Time point : 0 & 3 8 s 2 5 0 (month)
z a el w =
1 . .
12 A manufacturer is developing a new mug. The table below .
shows the temperature change of coffee poured into an ordinal oWWhigh month had the largest amount of oranges? How much
mug. Draw the line graphs using the information below. as it
Time i i Month: Amount: t
ime '“’e(“’? noye 0 20 40 60
pouring tminute @ Observe the graphs and write what you noticed.
Coffee temperature (C) 100 60 45 35
A When the amount of c Regardless of the amount
Temperature change of coffee poured into a mug oranges increase, the of oranges, the price is
() price is reduced. increasing toward March.
100 B From January to March
the amount of orange
80 goes up and the price
goes down.
60
€ How much money was made by selling oranges in March?
0 Math sentence
2 650 X 40 = 26000
° 20 40 60 (Minutes) Answer 26000 zeds
42 43

12
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<w[3€0 05 Two different set squares are used to make angles as
= ﬂ Size of Angles and Angles of a Set Square follows. Find the size of each marked angles.
J

<»[FE0E 1 Look at the angles below. How many right angles I Angleats
are there? o 9 q Angle b is
S Ed
H &
The angle has right angle. Angle cis m

Two different set squares are used to make the following angles.
{1 Look at the angles below. How many right angles are there? Find the size of each marked angle.

o Angle a is -
@. Angle @) has

2] C"\ ) Angle @ has

d Angle cis -

< instruction: () Unit to express the size of angles.

right angles.

ght angles.

b

® The size of an angle is determined by the A protractor is a tool to ~ ———
amount of space between the sides and ot megsure the size of angles g 3]
the lengths of the sides. i)

® Degree is a unit to express the size of “5gs
angles. One angle revolution has 360 equal
parts.The size of one part is one degree and
is written as |°

® | right angle equals to 90°and 4 right angles
equal to 360°

Angle e |s Angle fis

< Instruction: Measure the size of the angles on a set square

using a protractor. Angle g |s
You can make various angles with set
squares. Do you have any findings?
You can make 30°, 45°,60°, 75°,90°, 105°....

44 45

.
v

Angle e is Angle g |s

-
How to Measure Angles
o @ Angle fis
<wInstruction How to use a protractor.

(D Put the center of the protractor over
vertex A of the angle.
@ Put the 0° line over side AB of the

<= (3001152 Measure the following angles with a protractor.

How can we measure the angle? ‘,(/f“;\é
4
Angle is

I. Measure the size of angle|2. Subtract the angle from
smaller it is than 180° . 360° .

angle
(3 Read the scale mark that overlaps
side AC

When line is too short to measure

with a protractor, extend the line.

360 — 135 = 225

Alternatively, you can measure by

N adding |80° + 45° = 225°
Angle ais| 60° Angle b is

[1] Measure the following angles with a protractor. wrong way to measure 2] Measure the following angles with a protractor.

It is easier to find the
® angle by subtracting the
small angle from 360°.

Angle b is

360 — 150 = 210 360 — 30 = 330

46 47
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Angles )
How to Draw Angles
J

<wInstruction| Let's draw a 50° angle using a protractor.

I. Draw a straight|2. Draw a point C at|3. Connect points A
line between points |the 50° scale mark. |and C by drawing a
A and B. Place straight line.

the center of the
protractor at point A
and match side AB c
to the 0° line. 3
A B

<»[3€0iJ15 Draw the following angles using point A as the vertex.
o
£ . : 7
A B
A B

Draw the following angles using point A as the vertex.

Angles

l_l—l Measure the following angles with a protractor.

©

®

Angle a is Angle b is Angle cis

@

©

Angle d is Angle e is Angle fis

1_2—' Two different set squares are used to make angles as follows.
Find the size of each marked angle.

Angle a is Angle a is

@ ’Q

Lx
1_3—1 Draw the following angles using point A as the vertex.

@ oo O 57
~

0 & 0 A
L —_— 0 2
A B A B We can measure an angle larger than [80° by
0 150° o 135° A B subtracting the angle from 360°.
Subtracting  from 360° A
AN =) Q_ AQ&
A B A B Measure
48 49
Division Algorithm-2 h Division Algorithm-2 h
5 = 1 Dividing by Multiples of 10 (1) 5 = 2 Dividing by Multiples of 10 (2)
- J - J
< [3E05  Calculate 60 + 20. <» (€S There are 90 sheets of coloured paper. If 20 sheets
. . . are given equally to each child, how many children
6 +2= 3 , Thinkof |0 s a single unit so that 60 equals will get the coloured paper? How many sheets will be
6 units of 10 and 20 equals 2 units of 10. If
4 : ) . ? .
‘ left over? Solve and check your work
60 = 20 = we do this, we can find the quotient for 60 +
. 20 by simply dividing 6 by 2. 90 sheets
6 units of 10's — Coloured 1/@ : Re”‘?"‘mql
: paper
= Math sentence ot Garson)
_ = 90+20=4RI0° ;/3 :
2 units of 10 Answer 4 children with |0 sheets left over.
~] . L .
% 6Coalcu:;zte the following division problems in your head. Check 20 X 4 + 10 = 90
I . " .
40 = 40 = - |1 There are 70 pieces of candy. If every child gets 20 pieces,
o 160 =+ 40 e 240 =40 E o 350 = 50 how many children will get candy? How many pieces of candy
= = =80 = - - will be left over? Solve and check your work.
Q30 +60=[5] @s0+80=[7] @e30+70=]7] y e
. Math sentence m Remamdem
<»[EEnriE 2 Calculate 90 + 20. 70 =20 =3 R |0 canty f i T -
9 =2 = 4RI If we use |0 as a single unit, the problem Answer 3R 10 Ch”dfeno ‘ (persons)
o will be a 6 + 2 and the answer will be 4 R —_— . . .
9 = 20 = 4 RI0 I. Remember, since | is actually a unit of 3 children with |0 pieces of candy left over.
10, the remainder will therefore be |0. Check 20 X 3+ [0 =170
4 units of 10's
1_2—1 A 500 cm ribbon is cut into 40 cm pieces. How many 40 cm
i pieces can we make? How many cm of ribbon will be left over?
2 units of |0's Solve and check your work. o em
[Mem "~ Remainder 19y
1_2—' Calculate the following division problems in your head. 5 e e e e e s o
P Math sentence oo+ (ieces)
= 2R 500 + 40 = 12 R20°
Answer 2R 20
o 12 pieces of ribbon with 20 cm of ribbon left over.
(5 ) Check 40 X |2 + 20 = 500
50 51
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Division Algorithm-2

(-3

Division Algorithm (1)

<e[3EnE Calculate 48 + 12,

Hiding the numbers

Tens [ones|  Think of dividing 48 by 21. in the ones place |
4 (Think of 40 + 10 and guess a with a pencil
- quotient.) can help us think it
| @ ) 4 B easier.
: ) Write the estimated quotient, 4,
tecs) OZS in the ones place.
. Sometimes,
| 2 ) 4 8 vau.ItlpIy 12 by 4. rounding the
rite 8 48. divisor can
4 8 help us pick
the correct
Tors [One. 48 from 48. quotient. We
4 , Write a 0 in the ones place. will still need
. to multiply the
| 2)4 8 ichentbytine
4 8 48+ 12=14 actual divisor!
Check the answer:
O 12 X 4 =48

@ 82 @ 9632 € 55 =1l

Calculate the following division problems by using the algorithm.

@ 86 =43

O 8=12
@ 93+ 3|

@ 68 =34
@ 84 =2l

2 3 5 2
24)48 32)96 11)55 43)86
48 96 55 86

0 0 0 0

© 69 <23
@ 39+13

54

Division Algorithm-2

Division Algorithm (2)

2

Tens

Ones

(3 cl; Calculate 87 + 21.

Think of dividing 87 by 21.

4 (Think of 80 + 20 and guess a quotient.)
ﬂ ) 8 g Write the estimated quotient, 4, in
N ’ the ones place.
Tens [Ones
4 Multiply 2| by 4.
I ) 8 ,7 Write an 84.
Tens | Ones.
4 Subtract 84 from 87.
) & Write a 3 in the ones place.
8 4 The remainder is 3.
3 87 +2l =4 R3

Check the answer:

Sometimes, rounding
the divisor can help
us find the correct
quotient. Round 2|
down to 20.

20 X 4 is close to
87 without going
over. We still need
to multiply 2| X 4
to solve the problem!

=
=
5
<

2l X 4 +3=287

Calculate the following division problems by using the algorithm.

@ 85 =2l

21

@ 37+12

€ 83 =43

@ 95 =3

© 8+2
€ 88 =42

@ 67+32
@ 44+13

4 3 2 3
Y85 12)37 43)88 31)95
8 4 36 86 93
| | 2 2

@ 46 =11
@ 74+ 34

(1) 2 (2] 3 (3) 5 (4) 2 @ 4RI |® 3RI |® 2RrR2 |O| 3R2
(5) 3 () 4 (7) 2 (8} 3 ©| 3rR2 @ 2R3 (@ 4{R2 |® 2RI
(9) 4 (10} 3 (1) 4 ® 3 © 2RrR4 |@M 3R5 @ 2R6 |@A| | R3
52 53
Division Algorithm-2 h Division Algorithm-2 h
5 = 5 Division Algorithm (3) 5 = 6 Division Algorithm (4)
- J - J
<e[3EnE  Calculate 94 + 32. <»[FEnE Calculate 87 + 7.
Tens [ones| - Think of dividing 94 Tens [ones| Write the quotient, Think of  [Tens Jor Think of dividing 87 Tens [ones| Write the
3 by 32. 2, in the ones place. 17 s 20 4 (bT); \k7.f oo 5 quotier;(, 5. in the
p (Think of 90 = 30 and Ifan estimated 50 20, Thon guess ones place.
32)GF owseacuotent we quoiont s 0 0 D)8 s | 7)8 7
- N can estimate 3 as the large, replace it 3 a8 he quotent)
Tens [Ones|  quotient.) with a quotient Tens [ones|  Write the estimates Multiply |7 by 5.
3 that is smaller 4 quotient, 4, in the Write an 85.
Write the estimate by |- ones place. If timated
32)9 4 st snte Multply 32 by 2. [ 7)8 7 wuttiply 170ye. i B
q 6 ones place. fite a o 6 8 Write an 68. small, replace it
Subtract 64 from "J]ilh_a fl“°fie:t !
Multiply 32by 3. {=| Tens (Bl \‘xr‘ite a30 Tens [ Ones S5 EEET L
Write a 96. = 2’ T ki 68 from Subtract 85 from
l’ge ° Wiite a 19. 3\Zfite a2
We find that 96 9 4 R 7 ) 87 We find that 19 The remainder is 2.
is larger than 94 94 +32=2 R is larger than |7 87+ 17=5R2
and the estimated 6 4 Check th . 6 8 and the esti Ch- ktt: 3
quotient is too large. 3 O 3;(; 2 iagosw:eZA | Q grl:fat;fn" 4istoo |$c>< Se+ar;sv:veé‘;7
Calculate the following division problems by using the algorithm. Calculate the following division problems by using the algorithm.
@ 91=31 @ 83x21=6) 883812 O 62+22 @ 83+27 @ 58+19 € 87+2 O 9 =18
2 3 4 2 3 3 3 5
3191 21)83 12)58 22)62 27)83 19)58 28)87 18)9 |
62 63 48 4 4 8 | 57 8 4 9.0
29 20 | 0 | 9 2 | 3 |
© 96+33 @ 67+-23 @ 78+43 @ 48+32 O 192 O 6017 @ 5627 © 4l =19
© 8 =3 () 79+22 @ 5 =13 @ 62+2 © 95+29 (@) 85+3 ) 77+25 B 67+ 16
©® 2RrR29 |@| 3R20 |®| 4RI0 @ 2RI @ 3R2 |® 3RI |® 3R3 @] 5RI
© 2R3 @] 2R2I |@ 1IR3 @ IRI6 ©®| 3rRI |@® 3R9 |@ 2R2 |®| 2R3
R R R R R R R R
2 RI7 3RI3 3RI2 2 R4 3 R8 2 R9 3R2 4R3
54 55
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Division Algorithm-2
-
5 7 Division Algorithm (5)
- J
<3S Calculate 172 + 21.
Eealw=lom] Divide |7 by 21. feawlow] Write the
0 08! quotient, 8, in the
i Write a 0 in the s ones place.
2 M) 17 g tens place. (There 2 | ) 172
N is no problem if you do O O
not write this 0.)
172
| Multiply 2| by 8.
e loe] Multiply 21 by 0. (= 68 Write a 168.
0 Write 0. £
21T 72 s WOt
00 T2 1yT72
Subtract |68 from
o 00 172,
ol s & [i7ip Witead.
Subtract 0 from | §
0 17. - | 6 8 Theremainderis 4.
2 |) | 7.2 Wwriteal7. @ 4
£y 172 + 2| = 8 R4
00 _Bring down the 2 ?, Check the answer:
| {7:2 inthe ones place. g 2l X844 =172
sJ

Calculate the following division problems by using the algorithm.
@I58 +22 @169 +32 E315+43 (D336 =5l

7 5 7 6

22)158 32)169 43)315 51)336
00 00 00 00

58 1169 315 336

154 160 30 | 306

4 9 4 30

Division Algorithm-2
-8 -
Division Algorithm (6)
- J
<»[FEnE Calculate 345 + 21.
fssilrens[ones] - Think of dividing [l ons [ones] - Muiltipply 2| by 6. =
| 34 by 21 (Think of | 16} Writea 126 =
2 30 + 20 and guess a g
2 m ) 34 E quotient). 45 =
v v |
[elesos] Write the 35
| estimated quotient,
I, in the tens place.
21)345 26
21 Multiply 21 by |.
Write a 21. Tore | BB
= | 6
| subtract2l from 415 subtract 126 from
34, | 135.
2 |534 5 Write a 3. 35 Write a 9 in the
21 ones place.
135 4, 26 .
Bring down 5 from 9 The remainder is 9.
the ones place.
[t o [
| |6 Divide 135 by 21. 365 + 2| = 16 R9
21 ) 345 Write the
2| estimated quotient Check the answer:
1735 6 in the ones place.
21 X 16 + 9 = 345

Calculate the following division problems by using the algorithm.
38512 @897 +42 @639+ 14 431 +35
=‘ BRI ‘ =‘ 2IRI5 ‘ Os526:25 ©6 3
em @277+ 18 ()352 28

Osst =62 @300=7% @271 +53 26 =86 W) CH
©707 +98 (D300« 48 (@344 +67 (D643 =76 | 2)385 42)897 Q49+ D=3l
36 84
@ 7R4 @] 5R9 |® TRIL O] 6RO 25 579450‘26%022
R9 RII R R 13
O 9rR2%6 |@®| 4R4 |@| 5R6 |@| 3RS 2.4 42
\ 5 @ % lel 2o o
© 7RrR21 || 6RI2 || 5RY || 8R3B R7|“RI16|“|R16/“ |R28
56 57
h Division Algorithm-2 h
5 = 1 0 Division Algorithm (8)
J - J
<w[3EnIE Caleulate 6522 + 27. <w[3€I5 Calculate 3016 + 28.
Think of dividing 65 =F=[=[=] Multiply 27 by 4. Think of dividing 30 3 o 0 from 21.
2 by 27 (Think of 60 = 24 Write a | 08. | by 28 (Think of 28 as |0 Write 21.
2 E 6522 Nandguessaquotient. 2 7) 615 22 2 BjSﬂMﬁ 30and 30 + 30. Then 2 8)i3i0i16
01 We can estimate 2). 54 I "v 0 1 guess a quotient). 2i8 tBhring dowlnéfrom z
| ‘ 2 2 | e ones place.
—=I==l2=] Write the estimated 11018 EA ] i 00 g
276 § 55 Quotient 2, in the T 108 from | :L’thl):lee*e\ln the 216 Divide216by2s. 5
5 hundreds place. 214 \‘I\}Qt . 28)30 16 hundreds place. *"’ra o Write th
Multiply 27 by 2. 3 rte a 4. 28 N rite the es
s BT ERE g somztan [B ezt [E] 721350 wote e
&mé‘-v-an 1i1i2 the ones place. g PH .
108 5 p——
2 7)6i5122 \?vl:i':;r:?ﬁ% from €5. Y] | g;b!ract 28 from 00 :
? zl‘ 5 Bring down 2 from g Divide 42by 27. 2 8)2 g 16 Witea. g Multiply 28 by 7.
the tens place. 1 2i471 Write the estimated 27 Bring down | from 2873016 Write a 196.
) Divide 112 by 27, 27) g i 2.2 g‘r:gge;;:;cg,ln the the tens place. 28 sut 196 from
24 Write the 12 Multiply 27 by |. —g=r=s Divide 21 by 28 (21 g (I) Write a 20.
2 7)6i5122 quotielnt. 4,in the 10 f 5 Write a 27. 0 08 = 0,%/2‘)_ 516 The remainder is 15.
54 tens place. ) Write th tient, .
HIE 217 piaract 27 from 62 28] 3T 6 e tome ploce.. 196 s0i6=2= 107 -
Check the answer: 156 The remainder is |5. P Mu_ltiply028 by 0. Check the answer:
27 X 241 + 15 = 6522 €522 27— %R IS 0i0) | Wrteal. 28 x 107 + 20 = 3016
Calculate the following division problems by using the algorithm. Calculate the following division problems by using the algorithm.
7969 + 23 @ 9245 = 38 ED7674 - 42 (D8T73 = 54 5679 + 52 @ 3954 = 19 E)7021 ~ 23 4458 = 4]
:‘ 36 RI| ‘ =‘ 23R ‘ @8095 = 63 @799 = 71 =‘ 109R I ‘ :‘ 208R 2 ‘ @789 = 13 @931 =23
— — @896l + 52 € 9738 =+ 31 — — @5773 + 54 @ 8354 + 27
23)2369 38)%45 @741 =45 @eseq = I8 52)227‘7 "7)3254 @ 4871 =47 @7053 + 34
|10i6 11614 417 |5
182 [62 128 [12 305 108 607 401
212 152 _ OR300 |r5(O 31| O ke 0,0 00 10|26 (0|r3|O| g5 |O| ks
| 1419 11215 41719 | 1514
1:3{8 lili4 |72 314 216 381 4168 1:512 106 309 103 207
Il Il ORWORAORQI@RH Il 2 oR490RI\oR3O®R\5
58 59
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<wInstruction’ The quotient does not change if you divide the

<3215 There are 150 sheets of coloured paper. If we give

Division Algorithm-2
-
5 11 Properties of Division
-

dividend and the divisor by the same number.

So, the division
math sentence
2 times can be remade

|
6t|mes 8 = 2 = 6 times to the simpler
6

3 times | 3 times ST [y
example, 24 + 6

becomes 8 + 2.

2 times

50 sheets to each person, how many people will get
coloured paper?

Think about bundles of 10 sheets of paper.
|50 sheets—=[I5] bundles of paper 150 + 50 = 3
50 sheets—[ 5] bundles of paper 15+ 5 =3

Math sentence |50 + 50 = 3 Answer 3 people

There are 180 pencils. If we give 60 pencils to each child, how
many children will get pencils?
@) Think of 10 pencils as | unit.

180 pencils—- I8+ 6=

Math sentence
60 pencils HE .
|80 = 60 = 3 Answer 3 children

Think of 100 as | unit.

7
2800 becomes 28. .
When the dividend
4 \@\\@\) 28 \@\\@\ 400 becomes 4. andi:etdeivisor ::d
2 8 2800 + 400 with O's, we can cross
O =10 l 10 oyt the same number
280 =+ 40 of O's from dividend

+ 10 <+ 10 and divisor before
2800 + 400 = @ 218 . ﬁ calculating.
Think about how to calculate the following division problems.

© 1600=80 = @ 2400600 = | 4 | € 7200900 =

<»[F€15 20 Think about how to calculate 24000 + 500.
48 Think of 100 as | unit
500)2 4000 24000 becomes 240.
20 500 becomes 5.
40 24000 <+ 500
. 40 l+ 10 l+ 10
0 2400 + 50
iy l+ 10 l+ 10
24000 + 500 = 2o - B

Think about how to calculate the following division problems.

@ 7500 + 300 =|25 @ 22200 + 600 = | 37

37
@ Think of 6 pencils as | unit. 300)7 600)222
180 pencils —| 30 30+ 10= [¢] 18
(] me < 8l
60 pencils H Va sentence ) 1115 412
80 + 60 = 3 Answer 3 children 0 0
60 61
Division Algorithm-2 9158 + 39 @s8173+ 25 @ 8300 + 18
913  ET e
l_l—' Calculate the following by using the properties of division. m’"m“'é" = 4:' -"4-3"“5 ‘*6'
0320+4o= 6420+70=E 0320+80= 39)7 158 25)8 173
78 75
0 1600+800=] 2 | © 72000+ 900= 50 | 3600+ 60= 35 A 5
17 50 8
1_2—1 Calculate the following by using the division algorithm. 1188 |72 20
. _ . R 156 150 |8
09\T|8_ @359 51 =|7R2|@ 459 + 74 = 3 >3 >
5 1_3—] 600 sheets of paper are divided equally between 28 students.
I 8) 9.1 51 ) 3 7 4) 4 How many sheets of paper will each student get? How many
9 CI’ 3 sheets will be left over? Solve and check your work.
Math sentence — '2 °"|“
0389+ 600 + 28 = 2| R |2 28)600
EXiaE == == 56
32 5 |17 A 2IR 12 410
| 2)3189 36)563 43)752 nswer Each ohild can get 21 sheets 28
36 36 43 and |2 will be left over. 2
29 203 322
2.4 80 301 Check 28 X 21 + 12 = 600
5 23 2.1
) . . .
- - - &' An B850 cm tape is cut into |2 cm pieces. How many 12 cm
@s618 + 52 O&799 + 29 © 7500 = 36 pieces are there? How long is the left over piece of tape? Solve
= = = and check your work.
[z ee] Tens [Ones| [ Jmsea] Tens [ones] =] [Tens [Ones] M th t [naee] Tens [ones
108 303 208 rahsemence 7.0
52)56 18 29)87979 36)7500 850 =~ 12 ="70R 10 12)850
52 817 72 8 4
Al 019 30 Answer 70R 10 10
00 00 00 We can make 70 pieces and 00
418 99 300 10 cm will be left over. 0
41116 817 2838
2 12 12 Check [2 x 70 + 10 = 850
62 63
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Rounding Numbers and Calculation
-
6 1 Expressing Approximate Numbers (1)
J

<wInstruction’ Round the following numbers to the nearest
thousand.

@515 @ 5761 “Approximate numbers” make
a number more simple when
5115 5761 knowing the exact number isn't
50‘00 l ‘ l 60‘00 important.
1 1 1 1 1 1 1 1 1 1
To know if the number is
5115 is close to 5000, so we rounded up to 6000 or rounded

say it is approximately 5000. down to 5000, evaluate the

: number in the hundreds place.
5761 is close to 6000, so we If the number in the hundreds

say it is approximately 6000. place is 4 or lower, round down.

[F015 A football game was held yesterday. The newspaper
reported that there were 36853 people in the stadium
to watch the game. Show this number on the number

Look at the number

< Instruction Round the numbers 5115 and 5761 to the nearest

Rounding Numbers and Calculation
-
6 2 Expressing Approximate Numbers (2)
- J

thousand without using the number line.

When approximating a number between 5000 and 6000 to the nearest
thousand, if the digit in the hundreds place is 0, |, 2, 3, or 4, we round down
and say it is approximately 5000. Ifitis 5, 6, 7, 8, or 9, we round up and say
it is approximately 6000. This process is called rounding.

5015 = Pay attention to the digit in the hundreds place.
Itis I. 5115 is rounded down to 5000.

5761 B Pay attention to the digit in the hundreds place.
Itis 7. 5761 is rounded up to 6000.

<[220 Round the following numbers to the nearest ten
thousand by paying attention to the digits in the one
thousands place.

in the hundreds line and round it to the nearest thousand. y y
B (NG 36853 @ 58213 | 60000 @ 274865 By| 270000
3000 l r 4 37000 36853 is | 37000
‘ — — — approximately |11 Round the following numbers to the nearest ten thousand.
l_l—' Show the following numbers on the number line and round it @ 36845 = 40000 @ 51382 | 50000
to the nearest thousand. Py o
128056 | 130000 306392  mp| 310000
@ 489 B 5000 @ 47335 B | 47000
e 035 © 7954302 mp| 7950000 | @ 8217920 WH| 8220000
4000 5000 47000 48000
T P W TR S SN S 1_2—' Round the following numbers to the nearest hundred thousand.
l_z—' Round the following numbers to the nearest thousand by @ 682038 m»| 700000 @ 338902 mH| 300000
paying attention to the digits in the hundreds place.
© 1814 @ 92120 © 47936 © 4519736 ®»| 4500000 O 2153219 ®»| 2200000
» ‘ 2000 ‘ »‘ 92000 ‘ B 48000 © 35076493 Bp| 35100000 O 62437548 ®| 62400000
64 65
Rounding Numbers and Calculation Rounding Numbers and Calculation
6 - Expressing Approximate Numbers (3) 6 = Range of Rounded Numbers
- J -
<wInstruction/ Round a number of 392356 to its highest place. <wInstruction; Think about the range of the original number that
; has been rounded to |30.
g -lz, 2z g g g 120 125 130 135 140
i Examine the digit in the
P—— 4 ,0 rci FO\ 9\ ,9 Rounded to 120 Rounded to 130 Rounded to 40
O e © ® 6 © The range in which the number will be rounded to 130 when it is rounded to the
In order to round to the highest place, we round the digit in the nearest ten is said to be, “greater than or equal to 125, and less than 135.
second highest place. Greater than or equal to 125 ------- > Equal to 125 or larger
In this case, we round up to 400000, because the number in the Less than 135 » Smaller than 135
second highest place is 9. Less than orequalto 135 - + Equal to 135 or smaller
<L Round 28136 to the highest place. <~[3&0:5 What are the largest and smallest numbers that can
Round 28136 to the second highest place. be rounded to 800 when rounded to the nearest
y hundred?
) 281368 The number rounded to the highest place. | 30000 4
4 Smallest number Largest number
B> The number rounded to the second highest place. ‘28000 700 750 800 850
I_I—l Round the following numbers to the highest place. When looking at the tens number, any number between 750 and 849 will round
to 800.
@ 3899 = 4000 ® 5379 = 5000
l_l—' What are the largest and smallest numbers that can be rounded
© 82659 = 80000 O 8029 = 70000 to the following numbers when rounded to the nearest ten.
Smallest Largest Smallest Largest
© 639203 ®»| 600000 O 258293 ®p| 300000 O « 55 m o 5 3
,_2—' Round the following numbers to the second highest place. 0 120 |15 |24 o 380 375 384
@ 62987 | 63000 @ 78301 | 78000 I_Z_' What are the largest and smallest numbers that can be rounded
to the following numbers when rounded to the nearest hundred.
© 454390 ®»| 450000 O 626929 ®»| 630000 Smallest Largest Smallest Largest
© 400 350 449 ® 700 650 749
© 1469020 ®»| 1500000 @ 2090800 ®»| 2100000 © 2600| 2550 2649 O 4800 4750 4849
66 67
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<»[F€ll5 | own a restaurant. 197 guests came to my

Rounding Numbers and Calculation

65

Calculation with Approximate Numbers (1)

restaurant on Sunday, |73 guests came yesterday,
and |28 guests came today. Approximately how
many total guests came to my restaurant over these
days? Estimate the number of guests to the nearest
hundred.

197 + 173 + 128 = 498 Round each number first
and then add.

200 + 200 + 100 = 500
Mathsentence 500 4 200 + |00 = 500  Answer 500 guests

|_|_| There is a famous park in my town. 322 tourists came to the
park in April, |72 tourists came in May, and 207 tourists came in
June. Approximately how many tourists came to the park during
these three months? Estimate the number of tourists to the
nearest hundred.

Math sentence

300 + 200 + 200 = 700 Answer 700 tourists

|_2_‘ The table below shows the number of people that came to a
football stadium on Saturday, Sunday and Monday.

Saturday ‘ Sunday ‘ Monday ‘
| o337 | 8752 |

o Approximately how many people came to the stadium these
three days? Estimate the number of people to the nearest
thousand.

Math sentence

15000 + 24000 + 9000 = 48000 Answer

‘ Day of the week ‘
‘ Number of people ‘ 15340

48000 people

O What is the difference between the number of people that
came on Saturday and the number of people that came on
Monday? Round to the nearest thousand.

Rounding Numbers and Calculation
6 6 Calculation with Approximate Numbers (2)
(- J

<»[FEE The distance from my house to school is 1890 m
round trip. If | go to school 209 days this year, what is
the approximate distance | will walk this year?
Estimate the total distance by using rounded numbers
to the highest place.

1890 x 209 = 395010 Round each number first
and then multiply.

2000 x 200 = 400000

Math sentence

2000 x 200 = 400000 Answer 400000 m

l_|_| The distance from my house to the market is 725 m round trip.
My mother walks to this market 295 days a year. What is the
approximate travel distance that my mother walks in a year?
Estimate the total distance by using rounded numbers to the
highest place.

Math sentence

700 x 300 = 210000 Answer 210000 m

|_2_‘ My father delivers newspapers to 289 houses in our
neighborhood 317 days a year. Approximately how many
newspapers does he deliver in one year? Estimate the answer
by using rounded numbers to the nearest hundred.
Math sentence 90000
300 x 300 = 90000 Answer  newspapers

1_3_‘ In one day, a company sold 615 packages of sweet.
Approximately how many packages of sweet will this company
sell in half year (182 days)? Estimate the answer by using
rounded numbers to the nearest hundred.

Math sentence Math sentence 120000
15000 — 9000 = 6000 Answer 6000 people 600 x 200 = 120000 Answer packages
68 69
Rounding Numbers and Calculation Rounding Numbers and Calculation
Calculation with Approximate Numbers (3) = 8 Calculation with Approximate Numbers (4)
- J (- J
<w[3EnS A bakery sold 15820 loafs of bread in one year (365 <eEElIE 1 A girl shopping at a stationary shop is wondering if
days). Approximately how many loafs of bread did 500 zeds* is enough to buy all of the following items.
this bakery sell in one day? Estimate the answer Round up the price of each item and estimate the total
byusing rounded numbers to the nearest thousand for °°Zt to ,k"do‘”" if ;hef;_an Ibuy all th_rtee items with 500 |
the dividend an to the nearest hundred for the divisor. : £, (P DUD I CIEE) i) R
/// m e To judge whether the total cost is less than
15820 + 365 = 43 RI25 Round each number: first MM a a certain amount, you can round up each
- ] price and then add them together. In this
and then divide. Colour pencil ~ Stapler ~ Notebook  case, round the numbers to the nearest ten.
16000 + 400 = 40 " \(BhA zedts 179 zeds |13 zeds The total is about 490
ath sentence
Math sentence / 190 + 180 + 120 = 490 Answer iteme o
16000 =+ 400 = 40 Answer 40 |oafs
I_I_| Another girl is wondering if 600 zeds* is enough to buy a ballpoint
] . pen (135 zeds), scissors (222 zeds) and a diary (219 zeds). Round
[ An aytomoblle company sold .23708 cars last yearl(365 days!). up the cost each item and estimate the total cost if she can buy all
ApPrOXImatEIy how many cars did the company sell in one day? three items with 600 zeds. (* “zed(s)" is the fictional currency unit.)
Estimate the answer by using rounded numbers to the nearest Math sentence The total is about 590
- Math sentence ds and shi b
:jril\(l)i:zfnd for the dividend and to the nearest hundred for the 140 + 230 + 220 = 590 Answer oy jmae oTC SN EW
Math sentence <w(3€]5 2 At this stationary shop, we can draw one lot for
24000 + 400 = 60 Answer 60 cars purchases of 500 zeds* or more. A boy wants to
- E— purchase a marker (126 zeds), a ruler (179 zeds) and
12 The perimeter of the lake at the park is 790 m. The distance a pencil case (22| zeds). He is wondering whether
you run during a marathon is 42195 m. How many times would the total is 500 zeds or more. Round down the price
you have to run around the perimeter of the lake to run as far as of each item and estimate the total cost if he can draw |
a marathon? Estimate the answer by using rounded numbers one lot. (“zed(s)" is the fictional currency unit.)
to the nearest ten thousand for the dividend and to the nearest Math sentence To judge whether the total cost is
hundred for the divisor. _ more than a certain amount, you can
Math sentence 120 + 170 + 220 = 510 round down each price and then add
Answer The total is more than 500 zeds them together. In this case, round the
40000 + 800 = 50 Answer 50 times SUEEEL and he can draw one lot. to the nearest ten.
2 | . . -
|3 There are 213 boxes. The total weight is 27,‘74% kg. l_z—' At this store, we can get a small gift for purchases of 600 zeds* or
ApprOXImateI)_l how much does one box weigh? Estimate the more. | would like to buy a pencil set (102 zeds), a set of paperclips
answer by using rounded numbers to the nearest thousand for (154 zeds) and a pencil sharpener (378 zeds). Can | get a small gift?
the dividend and to the nearest hundred for the divisor. Round down the cost each item and estimate the total cost. (* “zed(s)’
Math sentence i’a:;l:;t::]i;l:]aclecurrency unit.) The total is more than
28000 + 200 = 140 Answer 140 kg FENSEENEE | 00 L 150 + 370 = 620 Answer g?;;?g;@'m get
70 71
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Rounding Numbers and Calculation
- .
6 9 Review

I_I—' Which of the following numbers can be expressed as
approximate numbers? Explain your reasoning.

@) The distance between your home and the station

O Your temperature when you are sick

e The number of people attending a school festival

@ Your height in cm
Answer Yourreason  These numbers do not need to be

l'and 3 expressed as exact numbers.

I_Z_' In which place do we need to round 3472856 in each of the
following cases? Then answer the rounded numbers.

o To find out about how many ten-thousands there are.

9 To approximate to the nearest thousand.

©) To approximate to the highest place.

o One thousands place 3470000
@ | Hundreds place | 3473000
© | One millions place | 3000000

1_3—' Round the following numbers to the nearest ten thousand.

@ 10942 © 437296 © 2985871

1_4—' Choose the numbers that become 50000 when you round
them to the nearest thousand.

@ 50263 @ 40732 @) 50941 @ 49504

1_5—' What are the smallest and largest numbers that can be rounded
to the following numbers when rounded to the nearest ten.

1_6—' Estimate the answers to the following problems by rounding
the numbers to the nearest hundred.

© 338+267+ 1826 | =300+ 300+ 1800 = 2600 |
@ 495+ 213 + 287 ‘ =500 + 200 + 300 = 1000 ‘
© 385+ 1183 + 213] ‘ = 400 + 1200 + 2100 = 3700 ‘
@ 1000 — 176 — 325 ‘ = 1000 — 200 — 300 = 500 ‘
© 1000 - 419 - 298 | = 1000 — 400 — 300 = 300 |
O 1000 — 526 — 39 ‘ = 1000 — 500 — 400 = 100 ‘
l_'l—' Estimate the answers to the following problems by rounding
the numbers to the highest place.
© 847 x 5649 | =800 x 6000 = 4800000 |
© 7298 x 284 | = 7000 x 300 = 2100000 |
© 1965 x 412 ‘ = 2000 x 400 = 800000 ‘
O 76354 + 38 ‘ = 80000 + 40 = 2000 ‘
O 626481 + 190 ‘ = 600000 + 200 = 300 ‘
O 892785 + 315 ‘ = 900000 + 300 = 3000 ‘

1_8_' My friend is wondering if 1000 zeds* is enough to buy a

tooth paste (246 zeds), a washing detergent (375 zeds) and

a shampoo (418 zeds). Round up the cost each item and

estimate the total cost if she can buy all three items with 1000
zeds. (* “zed(s)" is the fictional currency unit.)

When calculating, round up the

numbers to the nearest ten.

Smallest Largest Smallest Largest Math sentence The total is about 1050
0O 25 % _|@ 70 65 74 250 + 380 + 420 = 1050 Answer 2eds and she cannol |
uy all items wi
@ 20 | 5 %6 | O 810 |85 874 208
72 73
Perpendicular / Parallel Lines and Quadrilaterals Perpendicular / Parallel Lines and Quadrilaterals
W ﬂ Intersecting Lines IW 2 Arrangements of Lines
J J
<3115 Which of the following intersections have a right angle? < Instruction| Parallel lines.
(8) (b) (C) ® When two lines are perpendicular to another b
# line, these two lines are called “parallel.” —
Intersection have a right angle. < [ZE0;E5 10 Which pair of lines are parallel to each other?
By matching a set square or a ¢ 0 H
corner of folded paper, you can A
find it. |_;\
-4 :
l_l_' Which of the following intersections have a right angle? 1L Wh'gh pair of lines are parallel to each other?
(a) (b) \< (c) \f\ (d) ’_ R =
s D
Intersection have a right angle. Cand
< Instruction| Perpendicular lines. SuEdlilg2) Line Aand B are parallel.
) Find the length of line ¢ d.
® When two lines intersect at a right angle, o Find the size of the ang|es'
they are called “perpendicular.” 60° :
O Benvim el o reimeesg | y A a CO\ : Length of linecd| 1.2 cm
if we can find a right angle by extending H R Angle @ m Angle @ m
the lines, we can still call these lines are E| |
i —-- ! The length b llel lines is th
T (SR e e e A g, | <2 |
12! Which of the lines shown in the figure below are perpendicular |2/ When Line A and B are parallel, € find the length of cd and
to Line A? b F ¢ Q find the size of angles e, f.
B A B
sl Length cd
A Angle Angle (®
74 75
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Perpendicular / Paralle!l Lines and Quadrilaterals < Instruction How to draw parallel lines
L . :

W @ How to Draw Perpendicular / Parallel Lines

J

1. Line up one |2. As you hold the set square |3. Slide the set

of the right on the right steady, put square down
< Instruction; How to draw perpendicular line. angle sides of |another set square along the |on the right and
a set square on |other side of the right angle. |draw another
1. Match a side |2. While holding the set square 3. Hold the set the line. line.

of a set square |on the left, place the other set |squares down
to the given line.|square so that the sides of the |and draw a line.
right angle matches the line.

Check if the two lines intersect each other or not. e’[‘g&

<w[30005 2 Draw a line parallel to the given line that passes

through point a.
<»[3€15 1 Draw a perpendicular line to line A through the

. 5 a a
given point a. . ;
If you want to draw A— » . ;mn
a | a intersected line, d
* - place the set square 4
P \

as shown to extend

the line.
) f,(’* 1_2—1 Draw a line parallel to the given line that passes through the
following points.

l_l—' Draw a perpendicular line to each the following lines through (1] (2]
the given point.

0 o l_?a—l Draw lines parallel to line A. The length between all the lines
>< % should be | cm.
A
76

77
Perpendicular / Parallel Lines and Quadrilaterals <e[3017:5 2 Draw the following trapezoid
Various Quadrilaterals (1) 2em
J Pe—
<w Instruction; Make various quadrilaterals by overlapping the Sem
following figures as follows.
VA
6cm
6cm
’ 1. Draw the line|2. Draw the line with|3. Draw the line to
with 50° and 5 cm|2 cm parallel to the|make the trapezoid.
length. bottom line.
Quadrilaterals with one Quadrilaterals with two Quadrilaterals with no :
pair of parallel sides pair of parallel sides pair of parallel sides
ANNR VSN N
® A quadrilateral with one pair of parallel lines is
lled a trapezoid. . .
s 1_2—' Draw the following trapezoids.
<3205 1 Find the trapezoids amongst the following 3om
quadrilaterals.
5cm
\[ JA[ ]/ Ilel] 2
[ 171 Bom
8\ gom
o 4cm —
l_l—' Find trapezoids amongst the following quadrilaterals. .
cm
/ \ b }
B
/ Tem
78 79
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Iﬂ Perpendicular / Parallel Lines and Quadrilaterals
=15

< Instruction| Parallelograms.

® A quadrilateral with two pairs of

Various Quadrilaterals (2)
parallel lines is called a parallelogram.

® The lengths of the opposite sides are Q
equal.

® The sizes of the facing corners are
equal.

<» 30005 1 Find the following lengths and angles.
Sides BC and CD, Angle C and D

A 4cm D

Vi Side BC‘ 4cm ‘ SideCD‘ 3cm

3em Angle C ‘ 70° ‘ Angle D ‘ [10°

0

l_l—l Find the following lengths and angles.
() sides BC and CD, Angle C and D

A 8cm D
77
. SideBC‘ 8cm ‘ SideCD‘ 6 cm ‘
/ AngIeC‘ 120° ‘ AngIeD‘ 60° ‘
B
(2]
A
D SideAB‘ 2cm ‘ SideAD‘ 3cm ‘
s Q 2om AngIeC‘ 75° ‘ AngIeD‘ 05° ‘
3cm <

80

<»[@F€015 2 Lines A and B are parallel. Draw a parallelogram
using these lines.

1. Draw a straight |2. Slide the set square up|3. This is your
line using a set  |and down. Draw another |parallelogram.

square. line.
A A A

# / /
B B T 8

1_2—] Lines A and B are parallel. Draw a parallelogram using these lines.

A Example answer

B

<w[3€0i;15 3 Draw the following parallelogram. /

3 c
A\
55cm
5.5 cm

1. Draw the line  |2. Draw the line with 5.5 cm|3. Draw the line
with 50° and 5 cm|parallel to the bottom to make the
line. parallelogram.

1_3—1 Draw the following parallelogram.

.
6 cm
6cm
81

Perpendicular / Parallel Lines and Quadrilaterals
(== . .
W (‘5 Various Quadrilaterals (3)

< Instruction/ What is a rhombus.

® Arhombus is a quadrilateral whose
four sides are equal in length.

® The opposite sides of a rhombus are
parallel.

® The opposite angles of a rhombus
are equal.

<>
!

<»[3€0715 1 Find the following lengths and angles.

Sides BC, Angle C and D
side C

AngIeD‘ 80° ‘

Angle C ‘ 100°

l_l—l Find the following lengths and angles.
G Sides BC and CD, Angle C and D

A

dom A Side CD
e oo AngIeC‘ 150 ‘ AngIeD‘ 65° ‘

A2 b Side AB
Angle A ‘ 120° | Angle D ‘ 60° ‘

82

<»(3€0015 2 Draw the following rhombus.

4cm
A
4cm
4em

1. Draw the line with |2. Draw the line with 3. Draw the line
50° and 5 cm length.|5.5 cm parallel to the  |to make the

bottom line. parallelogram. !'
Ll -
INAORRURU BT

<=
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< Instruction; Diagonals.

<»[3E015 1 Examine the figures below using a compass or a

Perpendicular / Parallel Lines and Quadrilaterals

Diagonal Lines and Quadrilaterals

® The straight lines that connect opposite
vertices are called diagonals.
®  There are two diagonals inside a quadrilateral.

set square.

(A) (B) ©

™~ A

() Which ones have the same diagonal length? A B

O Which ones have diagonals that are perpendicular?
©) Which ones intersect at the middle of each diagonal?

1_1—' Examine the following in the figures below using a compass or
a set square.
(A) (B) © (D)

JN A
/ /
DA

\

o Which ones have the same diagonal length?

) Which ones have the diagonals perpendicular?

Hak

0 Which ones intersect at the middle of each diagonal? | A, C, D

<» (@€ 2 Draw the following figures.

1_2—' Summarize the characteristics of diagonals of quadrilaterals in
the table below. Write a O if the characteristics are true.

Square | Rectangle | Rhombus | Parallelogram | Trapezoid
0= |An

The lengths of diagonals

are the same O O

The diagonals are

perpendicular O O

Each diagonal intersects

at the middle of the line O O O O

@) Arhombus with 4 cm and 5 cm diagonals
O A square with 3 cm diagonals

0 o 0 L
o,

‘cm( ‘cm<

|_3_' Draw the following figures.

o A rhombus with 3 cm and 4 cm diagonals
o A square with 4 cm diagonals

o _Lem  Example answer o Lem

I ecm I ecm

84 85
Perpendicular / Parallel Lines and Quadrilaterals Perpendicular / Parallel Lines and Quadrilaterals
Classification of Quadrilaterals Review
1! i ing i i i 2
<w[3&li15 Match the following quadrilaterals and its properties [17 Which of the following intersections have a right angle?
(@ (b) _r © /'/ (©)
Intersection have a right angle.
M I_Z—I Which of the lines shown in the figure below are the following?
There is no pair of parallel There is a pair of parallel There are two pairs of o Pair of perpendicular lines
sides. sides. parallel sides. o Pair of parallel lines
< Instruction| Classification of quadrilaterals. Perpendicular
Focusing on its sides or angles, quadrilaterals are classified as A . Parallel
follows:
B C D
—4
Q = ll D 1_3—' Find the following lengths and angles.
D — @) Parallelogram
Parallelogram
Trapezoid Four sides in equal lengths Side AD Side CD
Two pairs of parallel sides
A pair of parallel sides N N
For skdedshapes 00 e 2 kind of auadriacerals which ) — Angle A Angle D
quare is a kind of quadrilaterals which has many properties. “’* A
Match the following quadrilaterals and its properties @ Rhombus
m ¢ Angle D Angle A
All the sides are in equal There is a pair of parallel All the angles are the right
lengths. sides at least. angles.
86 87
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Properties of Operations
8 - 1 Order of Operations (!)

& J

<wInstruction| A stationary shop had 50 pencils. Last month [0
pencils were sold, and |5 pencils were sold in this
month. How many pencils does the shop have
left? Make a single math sentence.

Two students thought as follows:

Student A Student B

{50—I0:40 {I0+\5=25

40 — 15 =25 50 — 25 =25

Answer__25 pencils Answer 25 pencils
50 — 10 — 15 = 25 ® O

50k— (10+15) =25

<» 3005 Acake shop had 40 cakes. 20 cakes were sold in this
morning and |5 cakes were sold in this afternoon.
How many cakes does the shop have left?

& ’\
Subtract the total number of cakes sold v

from 100. /

Any math equations inside ()
are calculated first.

Math sentence

40 — (20 + 15) = 40 — 35 = |5 Answer |5 cakes

l_l—l An electronics store had 20 TVs at a special price. Eight TVs
were sold yesterday and || TVs were sold today. How many
TVs does the store have left?

Math sentence

20-@+1)=20-19=|
1_2—' Calculate the following.

O 70-@+2=]15] @ 8- (5+40) =] 2 |
(3) 50—(40—|o)= (1) 60—(86—55):

Answer I TV

Properties of Operations h
8 = 2 Order of Operations (2)
- J

< Instruction Cakes can be packed into a box 2 deep and 3
wide. How many boxes do you need to hold 60
cakes? Make a single math sentence.

(2x3) = 10

When there are () in a math sentence, the part of () is calculated first.

<315 Watermelons can be packed into a box 3 deep and
4 wide. How many boxes do we need to hold 48
watermelons? Make a single math sentence.

Math sentence 48 +~ (3 X 4) = 48 ~ |2 = 4 Answer 4 bOXeS,

Divide 180 by the number of
watermelons packed into one box.

l_l—l Oranges can be packed into a box 6 deep and 8 wide. How
many boxes do we need to hold 480 oranges?
Math sentence
480 + (6 x 8) =480 + 48 =10

Answer

7

e )

10 boxes

1_2—1 The seats on a train seat 2 people on one side of the aisle and
3 people on the other. How many rows of seats are needed to

seat 25 people? g

Math sentence
26+ (2+3)=26+5=5
5 rows
1_3—' Calculate the following.
© 420+ (\2+30)= @ 560+ Bx7) =
€@ (165 —45) +8= O 480+ (95 — 55) :

Answer

88 89
Properties of Operations h Properties of Operations h
p p P P
8 = Order of Operations (3) 8 = 4 Order of Operations (4)
- J - J
< [3E05 1 | bought a pencil that costs 80 zeds* and 4 pieces <»[3€n15 Solve the following equations.
of paper each of which costs |5 zeds*. What is the
total price? (“zed(s)" is the fictional currency unit.) o 6X8—4+2 0 6x (8—4)+2 o 6% (8—4+2)
The total price of pencils 80 (zeds) 0 _ % - _ f
The otalprice of paper 15 x 4 = 60 (zeds) 80+I5><4(zeds)© © o6xs - 4%2 (2] 6><(8 4) 2 |® 6x(8”2\‘4.2)
“ ” D _ _ - - - _
How to calculate “80 + 5 X 4”. 80 4 15 X 4 = 48 2 6>< 4 +2 6>;‘(8 2)
In any math equation, from left to right, multiplication @ -
and division must be calculated first. If there are = 80 + 60 = = =6x 6
both multiplication and division in an equation, you
can calculate from left to right. Then from left toright = , = 12 4 = ‘
addition and subtraction must be calculated next.
o The order of operations requires that calculations are done in this order.
1 Write the formula for calculations and find the answers. ® Calculate from left to right.
® Calculates inside the () are done first.
o =3§3)0++738(>)< i 310 o :||55++2755X:3q0 ® X and + must be calculated before + and — .
© 45+30+5 @ 0-48+6
=45+ 6 =5]| =90 —8=282 Solve the following equations. Show your work by following the
[Ferr092) My friend bought that costs 80 zeds for tw order of operations.
Sp ) y friend bought an eraser that costs 80 zeds for two . oy -
and 3 piece of paper each of which costs |5 zeds. o _752 8 3 6+2 2] _77X (28 i 26) =2
What is the total price? (‘zed(s)" is the fictional currency unit) B oy - B \AX' 2*_ ;
The total price of pencils 80 +~ 2 = 40 (zeds) A ) _ -
; B0+2+ 15 %3 (zec) @ 7x(8-6+2) O (7x8-6)+2
The total price of paper = .
The total price of paper |5 x 3 = 45 (zeds) @ =7x (8—3) _ (56—6) )
“ » 80 ] + |5 >< & — — — 9=
How to calculate “80 + 2 + |5 x 3. =7x5=3 =50+2=25
. O 8x20-12+4 @ 8x(20-12) 4
=160-3 =8X8+4
= 157 =64 +4=16
@ 8x(20-12+4) © (8x20-12) +4
1_2—1 Write the formula for calculations and find the answers. =8x (20-3) = (160 —-12) =4
@ 60+3+25x2 @ 36+4+5x%x7 =8x17=13%6 =148 = 4 =737
=20+ 50=170 =9+ 35 =44 06><‘?—\5—3 @6><(9—I5—3)
€ 20x8-40+4 @ s0x3-8l+9 54 — 5 =6x%x(9-5)
=160 — 10 =150 =150 — 9 = |41 =49 =6X4 =24
90 91
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<3 Simplifying larger numbers can make calculations

Properties of Operations h
8 - 5 Properties of Operations (1)
- J

e Instruction. How to calculate the total number of dots.
........... 12 -~ Two students thought as follows:
’OOOOOOOOOOOO‘ Student A Student B
000000000000
5 000000000000 (5+3) x 12 5x 12+3x 12
i O00000000000 | = g8 x 12 || = 60 + 36

000000000000 | _ 96 = 96
Q00000000000

3888888888888 Answer 96 dots || Answer 96 dots

The properties of operations that apply to math sentences
with () include the following:

:& ]; (H+@) XA =HXA+@XA

=
(H-@)xa —Hxa-@xa

This is

called the N

distributive (H+@)-a =H-4+0- A

property. - . .
(H-0) A =H-A-0-+ A

easier using the distributive property.

Properties of Operations h
8 = 6 Properties of Operations (2)
| J

< Instruction| There are two more properties of operations:

"+ =0 + n
Hx e =60 x h

’i‘i']b This is called the commutative property.

(H+@)+a =H+(@+4a)
(M x

@) xA =-Hx(@xaA)

This is called the associative property.

solve.

<=w[3e005 Use the communicative or associative property to

y 2

029+ 17+3=[29+(7+39=29+20=4 7 |

@73 x 4 x25=] 73 x (4% 25) =73 x 100 = 7300 ‘*

We can calculate much easier if using this property.

Use the communicative or associative property to solve.

Ld
\09X5=‘(\00+‘7)><5:|OOX5+9><5:500+45:5454&/£ 045+88+|2—‘45+(88+\2)=45+\OO:|45 ‘
Think about how _ _ _
Calculate the following by making the calculation simpler. ;‘::;':ri‘?z), Q67+ 76 + 2 _‘ 67 + (76 + 24) = 67 + 100 = 167 ‘
0I03><8=‘(\00+3)><8:\OOX8+3><8:800+24—824‘ €38 +53 +47 ‘38+(53+47):38+\00:I38 ‘
OI04><6=‘(\00+4)x6:\00x6+4x6:600+24:624‘ 0|6X4X25—‘léx(4X25)=‘6X‘OO=|600 ‘
©105x7=[(100+5) x7=100X7+5x7=170+3%=73%] ©42x 25 x 4= [ 42X (25 x 4) = 42 X 100 = 4200 |
@99 x 4= [(100— 1) x4=100x 4= | x4=400— 4=3% | 025 x39x 4= [ Bx055 719555, |
92 93
Properties of Operations h Properties of Operations h
8 = 7 Order of Operations (3) 8 = 8 Properties of Operations (4)
- J “ J
<»[FE05 1 When a number is a multiple of 10, it can be <e[3€005  Write the correct math symbols ( +, —, X, =) to
simplified to make calculations easier to solve. make the following math sentences correct.
Find the answer based on 3 X 6 = |8. ,l
©Q x5 @ 1x 0:030201 =0 »‘4x(3—2—\)=o ‘
=3x(6x10) = (3100 (6 10) 0:030201 =1 »‘ -9 x@-D=I ‘
=3x 6x10 =3x6x10x10
3x 6
= 18 xI0 = 18 x100 Write the correct math symbols ( +, — +)inthe ()to
_ 180 - 1800 make the math sentence correct. Use () if needed
3 x 6 = I8 3 x 6 = 18 How many problems can W
‘\Otimes *\Otimes *IOtimes*IOtimes *IOOﬁmes you solve? Let's think
3 X 60 = 180 30 x 60 = 1800 about various cases.
® In multiplication, when the multiplier becomes |0 times as much, the E |
product will also become |0 times as much. xamples
® Also, if both multiplicand and multiplier become |0 times as much, the — _ | =
product becomes |00 times as much. 040302O| 2 .‘ <4 3 +2 : 2 ‘
l_'l_' Find the answers based on 8 X 7 = 56. 04O3on| =3 .‘ (¢=3)x2+1=3 ‘
@80 x7= ‘(Sx 10) x 7= (8x7) x 10=56x 0= 560
04030201 =4 »‘4—3+2+|=4 ‘
08X70= 8x (7x10) =(8x7) x 10="56x 10=>560
@80 % 70=(8x10) x (7x10) = (8x7) x 10x 10=56 x 100 = 5600 0:030201 :5"4+3‘2+':5 ‘
<[FE05 2 Find the answer based on 6 X 7 = 42 0+030201 =6 .‘4+3—2+I:6 ‘
L
6x35=[6x(7x5 =(6x7 x5=42x5=2l0] 0:030:20) :7.‘4X3+2+|:7 ‘
3 —
12| Find the answers based on 4 x 5 = 20. 04O3OQO| _3 »‘4+3+2—I=8 ‘
O4x45= | 4x(5x9) = (4x5)x9=20x9=18 |
O5><28:‘5><(4><7)=(5><4)><7=20><7=MO‘ 0:030201 =‘7"4+3X2"=‘7 ‘
%4 95
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Properties of Operations Area )
8 = 9 Review @ = ﬂ How to Express an Amount of Space
J

l_l—' Read the following questions. Write out the math sentence < instruction Which one is bigger?
and solve. . :
. ) . cm Square A looks bigger,
o An electronics store had 30 mobile phones for sale. Sixteen 5cm but the sum of the lengths
mobile phones were sold yesterday and | | mobile phones were of all sides is the same.
‘ ) 4om A laom A B SquareA:4 X 4 = |6 cm
sold today. How many mobile phones remain for sale at the Rectangle B: (5 + 3) X 2
electronics store? =l6em
How about laying graph paper with | cm square sides 7
Math sentence underneath and counting the number of squares? ag l‘o

30-(U6+11)=30-27=3 Answer 3 mobile phones

<w[3€0005 Compare the size of Square A and Rectangle B by

O Melons can be packed into a box 4 deep and 5 wide. How counfing the number of squares.

many boxes do we need to hold 80 melons?

Math sentence Lem

80 + (4x5) =80+20=4 Answer 4 boxes fem Square A has 16 squares.
1_2—] Solve the problem. Show your work by following the order of i B Rectangle B has |5 squares.
operations.
o 50 + 40 x 3 o 200 - 72+ 8 @ The size of a figure is called its “area”. I cm
=50+ (20 =200 — 9 ® Thearea of a square with | cm side is | square centimeter,
d it is wri lem?. =
=170 =191 ° ?‘gqlztar:vc(ern:;::‘e::r"ci:"a unit of area. tem ‘m ﬂ\q’l_]h
€ 20x3+2%+6 @ 36+4-20+5 SquareAhas an area of |6 cm’ and Rectangle B has an area of
=60+ 4 =9 -4 15 cm’.

= 64 =5 Thus, the extent of is larger than | Rectangle B

1_3—] Simplify the problems and then calculate them.

Examples Find the area of the rectangle and the square below.
@ How many | cm squares are there?
68 x (4x25) =68x100=06800 | @ How much i is it? | om square sides.

2cm
25 X 4 x 53 =100 x 53 = 5300 ‘ cm2.

(\oo+3)xq:\00xq+3xq:qoo+27:q27‘

@68 x 4 x25=

@25 x53x4=
©103x9=

5
O18x7= (\OO+8)x7:\00><7+8><7:700+56:756‘ = Icmsquares.
2cm
89+ 56+ 4b=| 89+ (56 + 44) =89 + 100 = 189 ‘ \ (:m2
96 97
@ Area )
- 2 The number of | cm? squares along the horizontal and the vertical sides are
Area of Rectangles and Squares ) the same as the lengths of those sides.
10 Fi o i 2 (Area of Rectangle) = (Length) X (Width) In a square, the lengths
<»[3€015 1 Find the area of each figure below in cm®. = Q) % (e ot the horontal and

| cm g :
vertical sides are the

You can make figure B into a rectangle. Cut the
B . ) . =
| em ey T (Area of Square) = (Length of Side) X (Length of Side)  same in a square. fg*c
<w[3€01]15 2 Find the area of the following figures.
Al 6cm’ | B|2cm’ 3em .
om

l_l—l Find the area of each figure below in cm”’. 2em
| cm

4cm

Math sentence
Ix2=6
Answer 6 cm?

Math sentence

4 X 4 =16
Answer Iécm24

)
| ent Do we have to count one by one every time? ;1
4

Al 12 | 8
— 1_2—] Find the area of the following figures.
< Instruction! How to find the area of quadrilaterals. o 4cm
. Math sentence
cm
f pon o 4x3=12
4cm
2
3 crr{ Answer 2 cm
o 7cm
6cm Number of  Number of  Total number of Math sentence
squares of  squares of  squares of 2 _
I cm’ (length) I cm® (Width) I em’ 2cm 7 X |4
5] - o !

Length (cm) Width (cm) Area (cm’) e 5om

Number of  Number of  Total number of Math sentence

3 squares of  squares of squares of _
- | cm’ (side) | cm’ (side) I em’ Som 5x5=25
2
3em E Answer 25 cm
Side (cm) Side (cm) Area (cm’)
98 99
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~
@ - @ AR <»[F&0i;52 Find the area of the :
. . cm
Area of Various Figures following figures. Match the math _ em
7 sentence and figures. e 2em
<w[Fen;s Find the coloured area of the following figures. =,
Som P —— @x )+ (6x2)=15
lem\|_2cm How can we calculate? 9
3om 15 cm
2cm
(Bx3)+@Bx2=15
|. The area of the given|2. Calculate the area separately. 3 5 P
figuret'is ?ﬁtaip?dtby Square A : om cm
separating them into two 3%x3=9 P
squares. 3cm) B (6x5)+2=15
6
B Zem = 15 cm’
A Tom 2em '
2 — =
Square B 1 (6x3)—@Bx1)=15
R 2x2=4 3om 15 cm’
3. Add the two areas. e
+4= 3
9+4=15 15cm 1_2—1 Find the area of the following figures. Match the
(1! Find the coloured area of the following figures. math sentence and figures. I em 3em
o 2cm | cm|
Math sentence | eml 3 3om
cm
Ux29+@x2=14 e @BxD+@x2)=7
2cm
2em 7 cm?
Answer |4 cm? 2em
o 5 oM alternative solution lam ( [ % | ) + (3 X 2) =7
5cm
Math
| = = 3cm 2
Cmd santence GXxN+@x2)=1I Iem 7 cm
3cm N _
om  Alternatively, (3 X 1)+ (4 x 2)= 11 Qcm — (3x3)—(2x1)=7
2 I em ‘ 2
Answer Il cm 7 cm
2cm em
100 101
Area h Area h
= éﬁ 2 2 - 5 . .
Large Areas (m”and km®) Relation between Units of Areas
J J
< [3€15 1 Find the area of the following flowerbed. <w(3&01:5 1 Find the following areas with specified unitin ( ).
/‘/,5,'“‘_ . I T pe— @ Arectangle with 30 m length and 20 m width (a)
5 l, . o one square metre. It is written as | m? Math 3Ix2=6 - @ h
mi= e 3 ® T th fal like a . sentence - m X |0m = 1a How
\]"‘:‘x""*t‘ J ‘:l‘;;)’t::vs)“’: ::au; Sq:ZE: :’::r:sj ) ° ‘E=. Answer 6 a many | a squares? a‘w;w.
th
sentonce ® X 3= 15 Answer 15 m® @ Asquare with 200 m sides (ha)  100m x 100m = | ha
Math
2X2=14 Answer 4ha How many | ha squares?
l_l—' Find the area of the following figures. sentence e
(1] 4m (2) Sm l_l—] Find the area of the following figures with specified unitin ( ).
Math Math @) Arectangle with 80 m length and 30 m width (a)
6m sentgn:(e4 o 5m senéer;r(;e5 . glleintgnce 8% 3 =02 Answer 24 a
pnswer 24 pnswer 25 (2) ﬁa?r?uare with 300 km sides (ha)
sentence 3x3=9 Answer 9 ha
N Exampleks ;':d tlhe ar_eda of a local market. It has | km and =w[Z%n 2 Fill in the blank with numbers to see the relation
AoLlr )k between the length of a side and the area of a square.
2km ®  Thearea of a square with | km sides is one times times
square kilometer. Itis writt | km?.
® To express the area olls :’Er;: :;ace like L ot /\ /\ 0
island: d tri ength or a m
ol 7T D B D Lens | em 10.em o
Math 2% | = pnswer 2 ki’ 8 Area I em? 100 cm* 10000 e’
= (o [
1_2—1 Find the area of the following figures. times times
7 km 6 km
o Mitth Mi*th 1_2—1 Fill in the blank with numbers to see the relation between the
senience sentence length of a side and the area of a square.
ik 7 X 4 =28 6km 6x6=36 ¢ times b times
Answer Answer
28 km’ 36 km’
28 km km Length of a 0 100 [ km
Other units of area are as follows: side m m (1000 m)
® The area of a square wit£| 10 m sides is called one are. It is written as | a. a ha T km?
10m X [0m=100m’ = |
o Th:‘ama ef;“square wri“th 100 ?n sides is one hectare, and it is written as | ha. Area (100 m2) (10000 mz) (1000000 m2)
100m X 100m = 0000 m’ = | ha N N
times m times
102 103
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Review ]

@ - @ Area

l_l—' Fill in each of the |:| with a unit of area or a word.

@ Areaofa rectangle = length X | Width
O Area of a square = X
©) The area of a square with | cm sides is |

o The area of a square with | m sides is |

© Theareaofa square with | km sides is |

1_2—' Find the area of each coloured figure below in cm’.

I cm

A B
| et

C

B‘Sch‘ C‘ 3cm’

A‘\Ocmz

1_3—' Find the area of the following figures. 2cm
P ——

(1] 2]

Math
5cm sentence
Math
sentence 6x2=12
3em 5x3=15 o6cm

Answer |5 cm’ Answer |2 cm’

l_b—[ | want to make a rectangle with an area of 24 cm’ and a width
of 3 cm. How many cm should the length be?
[Jem Math

D — sentence
o

Ox 3=24
(=24 +3
Answer 8 cm

1_5—1 Find the coloured area of the following figures.
2om Lol e (6XD+Q2xD=16
Alternatively, (4 X 2) + (4 x 2) = 16
(6x4)—(4x2)=16

2

Answer |6 cm

Math sentence

(6 x5)—(3x2)=24
3cm Alternatively, (2 X 2) +(6 X 3) + (2 x )= 24
(BXxD+@Bx3)+(Gx 1)=2

Answer 24 cm’

5cm
1_6—1 In the following rectangular field, the width of the path is 10 m.
How many a is the area of the field?

70 m If you move the white part down, the
figure becomes a rectangle.

70m

—
om .40"‘(@\%‘

Math =~ 90 x (40 — 10) = 2100

a
sentence
Answer 2| a

l_'l—l Find the area of the following figures with specified unitin ( ).

@ Arectangle with 20 m length and 10 m width (a) 2m

Math | x2=2 10m
sentence

Answer 2a

Theareaistwo [0m

10 X 105. ,Om B
‘\!\'E

@ Arectangle with east-west 2000 m and north-south 4 km (km?)

Math 2000 m = 2 km
sentence 4 X 2 = 8

Answer 8 km’

104 105
How to Organize Data h How to Organize Data h
-
Organize Data in a Table (1) 1 0 Organize Data in a Table (2)
- J - J
<»[FEE The table below shows a report on an injuries incurred <»[3€0i5 The table below shows the types of injuries that
by students in a week. Organize the table based on occurred at school last month, focusing on the
the type of injury and the location where it occurred. places where the injuries occurred and the kind of
Injury Report injuries. Answer the following questions based on the
— - Jury — - information in the table.
Grade | Type of injury | Location Grade | Type of injury | Location
5 | Scrape Playground 3 | Scrape Playground Cut Bruise | Scratch | Sprain | Total
3 Bruise Stairs 2 Scrape Classroom | 4 3 | Q9
4 Sprain Gym 3 Bruise Gym 2 3 2 0 7
2 Cut Classroom | Sprain Gym 4 | 3 0 8
Scral Ci i i | 2 4 2 9
pe ut Bruise Sprain  |Total Tally the report 8 o B 3 3
ay 0 0 0 |2 and write the
0 0|/ |l |~ |2 |3 number on the @ Fillin the blanks of the table above.
s 1z ] 0 0 |2 table. . . .
0 ol o @ How many children had sprains at the gymnasium?
3 | 2 2 8 L-/»
The table below shows the number of injuries for one week. ©  Whatkind of injuries most occurred?
Organize the table based on the type of injury and the location
where it occurred. Injury Report
Grade | Type of injury | Location Grade | Type of injury | Location The table below shows the kinds of books and the number of books
5 Scrape Playground 5 Scrape Playground R .
3 |Bruse Playground 3 [ Bruise Stairs borrowed one day. Answer the following questions.
4 Sprain Classroom 4 Scrape Playground Gl G2 | G3 | G4 | G5 | G6 Total
2 Cut Classroom 2 Cut Classroom 7 5 6 5 8 10 4|
4 Cut Playground | Sprain Gym 4 2 5 B 0 0 39
| Scrape Playground 6 Scrape Classroom 0 ] 6 3 12 9 37
4 Sprain Gym 2 Sprain Playground 0 ) % ) 2 5 7
| wonder what kind 21 19| 3l 31| 42| 44 188
Scrape Cut Bruise Sprain |Total| of injuries are .
w7 17 7 T =1 common and where @) Fillin the blanks.
0 0 RV 2 0| they occurred? : ”
©  What kinds of books borrowed the most? Picture book
/ |1 |7 |2 o |/ | 4 IS
How can we ‘——’LE .
0 oz 1! 0 '] take actions to &z € Which grades of students borrowed the books least?
5 3 2 4 14 reduce injures.
106 107
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How to Organize Data h
1 0 3 Review
A J

l_l_' The following record shows the lunch food and drinks ordered
in a café. The owner will consider discounting the most sold
combi as a promotion.

Food Drink Food Drink Food Drink
Hot dog | Soda Hot dog | Soda Sushi roll | Water
Pizza Soda Pizza Soda Hot dog | Tea
Rice ball | Tea Pizza Tea Rice ball | Tea

Hot dog | Soda
Pizza Water

Rice ball | Water
Rice ball | Soda

Summarize in the following table below.

Hotdog | Pizza | Rice ball | Sushiroll |Total
VAR Rvaravaal 0 7
/ [z 117z |2 0 4
o/ |l |7 |2 |/ | 4
5 4 5 | 15

Hot dog | Soda
Rice ball | Water

1_2_' A class survey on brothers and sisters was conducted. There
were 35 students in the class. |2 students have older brothers
and |8 students have older sisters and 5 students also have
older brothers.

Look at the first row. The total

[ Older brother Total
v N number is 18 and 5 students have
5 o older sister and older brother. So,
5 13 |8 | I e NS
who have older sisters but do not
7 10 |7 §
have older brothers by calculation.

12 23 35 Mg

0 Find the number of students who do not have older brothers

but have older sisters. 13 students

@ Find the number of students who have only older brother.

7 students

© Complete the table above.

Decimal Numbers- |

-1

How to Express Decimal Numbers (1)

|
<elinstruction

\LO of 0.1 L is written as 0.01 L.

i oiL ool Itis read as “zero point zero one litres.

|
BE of 0.01 L is written as 0.001 L.
Itis read as “zero point zero zero one litres.”
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, [ e

[ i i i i i i i i |
oim \LO of 0.1 m is written as 0.0 m.
Joorm

Itis read as “zero point zero one metres.”

% of 0.01 m is written as 0.00| metres.

Itis read as “zero point zero zero one metres.”

<=[3€015 How many litres of water are in the containers shown
below?

0L O.lL

This is read as “zero
point two four litres”.

TITTTT7TT

0.24 7L

Answer the following the amount of water and length of tapes.

0 0 o |
0.1L 0.1L

L
0.lL O.lL 0.1L

TTTTTTTTT
TTTTTTTTT

@ | 014 |m l

S3-00Im

109

110

<3005 1 How many 0.01 L are needed to make 0.05 L, 0.0ﬂ

Decimal Numbers- |

-2

How to Express Decimal Numbers (2)
L J

Land 0.| L, respectively?

0.05 L is made of 0.0l L.
One 001 Lis

0.09 L is made of@ 00IL o0t
Two 0.01 Lis

0.1'L is made of 0.0l L. 002t

Answer the following questions.
@ How many 0.01 L are needed to make 0.04 L, 0.07 L, 0.12 L,

and |.23 L, respectively?
0.07 Lis made of 0.01 L.

0.04 L is made of 0.0l L.
.23 L is made of| 123]0.01 L.

0.12Lis madeof 001 L.

@ How many 0.00/ m are needed to make 0.006 m, 0.008 m,
0.0 m, 0.1 m, respectively?

0.006 m is made of E 0.001 m. 0.008 m is made of 0.001 m.
0.0l mis made of 0.00l m. 0.] mis made of 0.001 m.

<»[3€01:15 2 What are the lengths indicated by the arrows?
4.28 4.29 4.3 (M) The
\‘\\\\\\\\\‘\\\\\\\\\‘\\\\Sma"e“ N
tick shows o)
4.285 4.293 4.301 0.001 m. -
What are the lengths indicated by the arrows?
5.29 53 5.31 (m)
e b b
L) L)
[5293] [5.298] [5305] [5311]

Decimal Numbers- |
-3

“
< Instruction; Think about the relations between km and m, and
kg and g.

How to Express Decimal Numbers (3)

The relation between km and m: The relation between kg and g:

1000 m = | km 1000 g = | kg

100m GEof [ km) = 0.1 km 100g (5of | kg) = 0.1 kg

10m (5o 0.1 km) = 0.001km || 10g (50 0.I k) =0.00! kg

I'm (‘LoofO.Ol km) = 0.000/km lg (% of 0.01 kg) = 0.0001 kg

<==[3€I5  Convert the following to km or kg as indicated next to
the answer box.

(1) 3km500m(km)km (2) '7509(kg)kg

Convert the following to km or kg as indicated next to the answer
box.

@ 2km400m (km) @ | km550m (km) € 3km30m (km)

@ 500m (km) © 950 m (km) @ 680m (km)

o
o

km 0.95 |km 0.68 |km

@ 4kg500g (kg) @ 1kg250g (kg) € 2kg300g (kg)

@ 900g (kg) @ 75049 (kg) @ 8809 (kg)

kg 075 |kg 0.88 |kg

M
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Decimal Numbers- |

-4

Structure of Decimal Numbers (1)

<wInstruction The relationship between |, 0.1, 0.01, and 0.00!

are as follows:

| 10
Decimal 70 10 times
numbers | |
are just — 10 times
like whole 10 0.1
LIILEES L 10 times
10 0.0
iR 10 times
10 0.001

< [FEiE 2,34 is made of 234 units of 0.01’s.

<[00I Write appropriate numbers in the[ .

@ I0timesof0.lis

@ 100 times of 0.1 |s

<[00I Write appropriate numbers inthe[ .

Write appropriate numbers in the l:l .

Decimal Numbers- |

(11-5

Structure of Decimal Numbers (2)

2.34
0.01—
2 0.3 0.04
2 isequalto 200 0.0!s. The structure
03 isequalto 30 0.0Is. of decimal
0.4 isequal to 4 0.0lIs. numbers are
just like whole
2.34 ismadeof 234 0.0l's. numbers.

@) 0.03isequalto 0.0I's.
@ 16 units of 0.01’s is equal to

(1) \Otimesof0.0Iis.
Write appropriate numbers in the l:l .
[2) \OOtimesof0.0lisE.
) 0.05is equal to 0.01's. € 7 units of 0.01's is equal to .
1000 times of 0.01 is “ .
© © 0.63is equal to 0.01's. @ 18 units of 0.01’s is equal to .
L Y look carefull
o g ofo-lis IO © 1.37is equal toM0.0I's.OQSA units of 0.01's is equal to
Ive th blems.
O gofolis soe feseprevens @) 3.04 is equal to |304[0.01’s. € 105 units of 0.01's is equal to .
0 0f00||$ ﬂﬁh ©) 0.1 is equal to 0.0I’s.@IOunitsof0.0\’sisequaIto .
(7) WofO.O\is 0.0001 |. @ | is equal to 0.0\'s.®IOOunitsof0.0\'sisequaltom.
112 113
Decimal Numbers-| h Decimal Numbers-| h
11 - Structure of Decimal Numbers (3) 11 - Structure of Decimal Numbers (4)
- -
<»[3E05 Put the following numbers on the number line. Then <»[FEnE Solve the word problem and write the answer in the
fill in the boxes using the letter in the correct order. box. Mark where the answer belongs on the number
line.
@243 @248 @241 2495 (2458
@241 (2.43 ®2.458 @248 @249 @ 3and 0.65 together
24 245 25
\\\m\\HL\u\uu\\\u\\\ulm\\\u\\\umu\\\u\\\\;\\uum\\M\\\m\meuhmlm\m o 0.03 less than 4 3.97 /
Lo ]<[o]<[o]<[@]<[0o i 7
3 35 4 44
OO O T O RO AL R YR O AT M
Put the following numbers on the number line. Then fill in the boxes
using the letter in the correct order. Solve the word problem and write the answer in the box. Mark the
l_'l—l @009 ©o ©007 ©@0025 @0.045 answer belongs on the number line.
@0 ®0.025 (®)0.045 ®0.07 0.09 @ 5and 0.46 together
# 4 4005 4 +om
FRTTRIYETE FYTSLRTETAFRVT YET1 YSRIRYTAFYETRYTY YSTRVRTSLAVFYUIECTE AYSYIYOTAFRYRURYITE VTR RYOREFRYRYRCITA OO 9 0.05 less than 6
‘ ) ‘<‘ ‘<‘ ® ‘<‘ ® ‘<‘ ® ‘ € 0.38lessthan 6
2 @0 @071 @073 @075 ©0.79% @ 0.02 greater than 5
@0.71 ®0.7310.74 & 0.775 ®0.796
07 ; ; ; 075 ; 10_8 @ 0.1l greaterthan 5
FETTY FRTTITET FYSTIVITN YYTYIYITA TR NVITY SRS NATY FRSRITTSTI FYSTIVITL (VNVAAYUTE VYU NVAEL ARTR YAVL UOUA
@ Five I's, three 0.1's and eight 0.01’s together 5.38
Lo ]<[o]<[o]<[@]<[o]
@) 586 units of 0.01’s together
3 ©@033 @031 ©0387 0362 0365
@043l 0.33 @0.342 ®0.365 30.387 © 525 Un“SOfO-O"Stoge‘hef
0.3 0.35 0.4 _ _
\u\uumul\mmu\umuuluumuhlu\uu\uumu\uulmuhumm\\mmlm\mmm\uu @ ® ® ® O ® @ @
. e R R
2 A}
‘ = ‘<‘ ‘<‘ ® ‘<‘ © ‘<‘ © ‘ OO O O e e A P e
114 115
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Decimal Numbers- |

1 I = 8 Structure of Decimal Numbers (5)
-

< Instruction  The first place to the right of the decimal point is called
the Tenths Place (or the first decimal place) as we
have already learnt. The second place to the right of

the decimal point is called the Hundredths (ﬁ's)
Place (or the second decimal place). It is equal

to TLO . The third place to the right of the decimal point
is called the Thousands (555's) Place (or the third

decimal place) . Itis equal to ﬁ -

B B8
0
Ones Place Tenths Place Hundredths Place. Place

Decimal Point
A decimal place to the left is multiplied by 10. A decimal place to the
right is multiplied by 7 .

<»[3&0]5 Whatis 2.34 multiplied by 10?
What s 2.34 multiplied by 752

Torsrioce | oves piace | Tons e | e e [ Trovsanan pace
2 2 R g T DIOtimes
4
I
2 3 T P
l0times|  23.4 15| 0.234

Answer the following questions.

@ Whatis 4.12 multiplied by 10?
@ Whatis 0.284 multiplied by 100?
@ Whatis |.35 multiplied by ‘LO ? 0.135
@ Whatis |.54 multiplied by % ? 0.0154

116

Decimal Numbers- |

-9

Addition of Decimal Numbers (I)
“

<30 Caleulate 1.75 + 2.64 by using the addition algorithm.

1715 11775 G
+2,6 4+ 2,64%+ 264
439 |43

Write the two numbers
so that the places are
lined up.

Calculate as if we
were adding whole
numbers.

Place the decimal
point in the same
place as the other
two numbers.

Calculate the following problems by using the addition algorithm.

) 247+ 432 @ 183+ 265 @ 145+ 0.7
2,47 1183 .4 5
+1413]2 +|216|5 + 0.7 |
6,79 41418 2.1 6

@ 762+ 129 © 264 +3.17 @ 065+ 158
@ 855+ 0.76 © 573+ 148 © 6.12+099

@ 2673 + 1281 @ 4945 +0371 (D 6809 +7.272

0] 72 |

Even if the number of digits increases, it can be

calculated in the same way as a whole number.

0| 891 |©| 58 |O 223 (@ 93l
O 7.1 || 3954 || 5316 |@] 1408l

117

118

Decimal Numbers- |
1 I = 10 Addition of Decimal Numbers (2)

-
<e[FEE  Caleulate 0.526 + 0.374 by using the addition algorithm.

0l5[2[6] | (0.5 26 [ [0l5]2]6
+10.37 4%+ 0.3 7 4W+ 0,374
770900 | [059 0.9

Write the two numbers  Disregard the first 0" Place the decimal point
so that the places are of the numbers and in the same place as
lined up. calculate as if we the other two numbers.
were adding whole With decimals, any to
numbers. the right of the last digit

can be crossed out.

Calculate the following problems by using the addition algorithm.
Cross out any unnecessary zeros.

@ 056+ 034 @ 329 + 151 € 0.139 + 0.241
0]51]6 3,92 0}113/9
+/0134 +| 1451 +1012]4]1
0.9 Q 4,80 0.3 8 06

@ 3249 +0541 @ 0074 +058 (@ 0.157 + 2.623

@ 273 + 1186 ©

@ 1249 + 4.35]

1.384 + 4516 € 0.147 + 0.753

@ 3725+ 1.175 () 0341 + 3.659

0| 379 |©| 066 (@O 278 |@| 3.92
© 09 |® 56 |@ 49 (@ ¢4

0] 59 |

Decimal Numbers- |

1-n

Addition of Decimal Numbers (3)
“
<»[3€0i5 Calculate 3.6 + 0.835 by using the addition algorithm.

3.6 3.6/0/0 3.6/0/0
+0.8359+0.835®+0.835
4 435 | 45435

Write the two numbers
so that the places are
lined up.t

Think of 3.6 as 3.600.
Calculate as if we
were adding whole

Place the decimal point
in the same place as
the other two numbers.

numbers.

Calculate the following problems by using the addition algorithm.

@ 28+034 @ 45+ 253 € 1.6+0948
21810 41510 16010
+1013]4 +12}5]3 +/019]4|8
314 7,03 2.5 4 8
@ 53+0.76l © 28+5325 @ 12+3845
@ 3.1 +096 © 185+ 157 € 593+0.78
@ 252+ 386 @ 21 +9.46 @ 1+99
Writing a 0 to align the numbers in the ﬁ
decimal places makes it easier to calculate. ¢ v
0] 6061 [@] 8.125 [O] 5065 [@] 406 @] 2007 ]
©)| 60.08 || 29.06 || 3046 |@| 10.96

19
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Decimal Numbers-|
1 1 = 12 Subtraction of Decimal Numbers (1)

-

<e[FEnE Calculate 3.64 — 2.76 by using the subtraction

algorithm.
30604 s/6l% 3/6%
—2/76®_-2,76%®-276
088 \08%

Write the two numbers Calculate as if we
so that the places are were subtracting
lined up. whole numbers.

Place the decimal
point in the same
place as the other
two numbers.

Decimal Numbers-|
1 1 = 13 Subtraction of Decimal Numbers (2)

-

<e[FEnE  Caleulate 0.8 — 0.35 by using the subtraction algorithm.

7 10

0.8 0.8/% 0l8ls
~0.,35%_-0.35%_-0/35
045 044 5

Write the two numbers
so that the places are
lined up.

Think of 0.8 as 0.80.
Disregard the first
‘0" of the numbers

Place the decimal
point in the same
place as the other

Calculate the following problems by using the subtraction algorithm.

@ 456 — 234 @ 3.26-248 € 685496
41516 3126 6.8|5
—1213]4 —1214]8 —1419/6
2,22 0,78 1,89

@ 4.03-086 © 241 — 185 @ 736 —547
@ 823-684 @) 584 — 489 © 1.24-099

@ 4885 -2796 @@ 37.24—595 ® 0927 — 0.688

0] 317 [@] o5 O] 1% [@] 139 |@©] 095 |
0| 025 |@®| 2089 |@] 3129 | @] 0239

120

and calculate as if
we were subtracting
whole numbers.

two numbers.
Use 0 as

necessary to
subtract correctly.

Calculate the following problems by using the subtraction algorithm.

@ 06-037 @ 45-025 @ 53-316
0,6 415 5.3
—10}3]|7 —10}2|5 —13111]6

0,23 4,215 20114
O 32-156 O 54-369 0O 14-087
@ 62-456 © 86-759 © o02-015

@ 106 —9.86 @ 1.83-0936 @ 104 —1.137

Like the addition algorithm, writing a 0 to align the numbers ﬁ
%
in the decimal places makes it easier to calculate. -

0] 15 [@] 11 |0] 053 [@] 16 O] 101 ]
0| 005 |@® 07 |@] 08% |®] 0003

121

122

Decimal Numbers-|
1 1 - 14 Subtraction of Decimal Numbers (3)

-

<» 305 Calculate 3 — 0.456 by using the subtraction algorithm.

wles.

3 ERESERINEEE
— 0,45 69—014568—0i456
2544 | 25447

Write the two numbers ~ Think of 3 as 3.000. Place the decimal point
so that the places are Calculate as if we in the same place as
lined up. were subtracting the other two numbers.

whole numbers.
:Q;i:, Use 0 as
necessary to
subtract correctly.

Calculate the following problems by using the subtraction algorithm.

@ 5-02 @ 7-3.46 O 3-1.19
5,00 7:0]0 3
—10.2]5 —13.1416 -9

4,715 3,54 1.8 1
@ 6-536 ® 1 -os6l O 8-179
@ 2-187 © 4-318 © 10-92
@ 42-1996 @ 9-003 @ 2-1.097

You can write a 0 to align the numbers in the decimal places. ﬁ

Then you can calculate it easier. ¢ = °

0] 08 [@] 039 O] 00s [@] 013 @] 082 |
0| 079 |@®| 3204 (@] 896 |®] 0.903

Decimal Numbers- |
11 - 15 Review

1_'|—l Write the answers in the l:l .
() 3.46is equal to 3 and together.

@ 1.23is less than |.3.
©) 2.34is equal to , H 0.I's, and 0.01’s together.

@ 1.234is equal to| 1234 |0.001’s.

1_2—' Write the number in the l:l that the arrow points to on the
number line.

S

3.28 3.29 33
c e v b b by

[3.282]  [3.288] [3295]  [3.301]

1_3—' Answer the following problems.

() What number is 100 times as much as 0.678?

) What number is \LO of 0.35? 0.035

1_4—] Calculate the following by using the algorithm.

@ 048+ 1.37 @ 267 + 447 € 584+ 1.69
@ 076 + 247 © 1273+ 3817 @ 2+968
@ 235-1.17 @) 595-386 © 64-217
@ 81 -713 @ 5-3999 @ 1 -0879
O 855 @ 714 |©® 75 |@ 323

O 50 (@ 118 |© 18 @] 209

© 423 @ o097 |@| 100 |@ o2

123
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JICA 4% _fREM

<»(FEn5 1 Draw various rectangles with a perimeter of 18 cm.

Change Log
12 - 1 Change Log (1)

\ J

I'em

@) Summarize the relationship between Length and width in
the table.

[Length[ IT2[3[4[5]6]7]8]

|wigth [8]7[6[5]4]3][2]1]

@ Ifthe length increase by | cm, how does the width change? 4
Decrease by | ot

@) Looking at the table, let's make a math sentence where the
length is O cm and the width is [] .

There are two lengths

and two width, so...

o If the length is 6 cm, what is the width?

Make a rectangle using a piece of string 22 cm long. Find the length

and the width of the rectangle.
10cm

| cmq ‘
@) Summarize the relationship between the length and width in
the table.
[Length [ I T2]3[4[5[6]7] ]
|width [10]9]8]7]6[5]4] ]
@ If the vertical length increases by | cm, how does the width
change?

Decrease by | cm

6 Looking at the table, let's make a math sentence where the
Length is O cm and the Width is [].

@ Ifthe length is 9 cm, what is the width?

<» 305 Arrange the squares in the staircase and measure

Change Log h
12 - 2 Change Log (2)

the perimeter.

@) Summarize the relationship between the number of steps
and the perimeter in the table.
[NumberofSteps [ | [2 ]3[4 [5[6[7 ][]
[Perimeter [ 48 ]12]16]20]24]28] ]

@) Let's make an math sentence with O for the number of

steps and [] for the length of the perimeter.

28 cm

@ How many steps are there when the perimeter of the stepsg
is 32 cm? o
8 steps

Arrange the equilateral triangle in a staircase and measure perimeter.

o A D

0 Summarize the relationship between the number of steps and
the perimeter in the table.
[NumberofSteps | | [2[3[4[6[6]7]
[Perimeter [3]6]a]r2[i5]18]2I]-]

@ Let's make an math sentence with O for the number of steps
and [] for the perimeter.

€ What is the perimeter of 7 steps?

© What is the perimeter of 8 steps?

24 cm

@ How many steps are there when the perimeter of the steps is
30 cm? o
10 steps

2cm
124 125
Change Log h Change Log
12 = 3 Change Log (3) 12 = 4 Review
A J
- . . . .
B xample 30 A i .1 Summarize the relat|o_nsh|p ‘between the Ien_gth and the width
AU el S i P s p - of rectangle or square with perimeter of 20 cm in the table.

@ Summarize the relationship between the 200 [lengh [ T [ 2 [ 3[4 5 6] 7|
minutes and the distance in the table below. }gg wisth [ 9 | 8 | 7 [ 6 | 5 | 4« [ 3]
Mindtes [0 [ 123 4[5 ] m @ Ifthe length is 9 om, what is the width?

[Distance (m) | 0 [ 30 | 60 [ 90 [120]180] -~ | 50 Lem
140
: PR

@) How many m does student walk in a minute? Eg EEEEA @ Ifthe width is 2 cm, what i the length?

100 cm
90

©  Look at the table and draw a graph. 8 |2 The hot spring gush 12 L per minutes. Write the relationship

© If 6 minutes passed, how much will o between the minutes and amount of water. Aot ofwater U0
the student go? 180 m ig 3% Gush means that water comes out of the ground. gg

@ If the student walked 360 m, how many 28 [Minutes [0]1[2[3[4]5]6] ] :.Z //
minutes does it take? B |Amount of water (L)] 0 [12]24[36]¢48[60|72] | =, //

mnes oo @) Look at the table and draw a graph. o
( ) 46
Measure the time it takes to fill a bucket with water. % “ /
. ) ) 7
@) Summarize the relationship between the ! “ [
amount of water and the minutes needed in © How much water gush in one minute? 8 /
the table below. ] »
[Minutes (o[ [2[3]4]5]6]] / Increase by I2L | 5 H
[Amount of water (U] 0 | 5 | 10]15]20(25]30] —| 2 , ) b W
// @) Let's make an math sentence with O for the % [
@ How much water will fill up in one minute? 7 hours and [] for the amount of water. %
22
] 12xO=0] = /
18
! [
Look at the table and draw a graph. 16
o grap 10 @ How much water will be gushed in 7 minutes? -
@ How much water will be collected in 7 - N
i ? ! 84 L 10
e L |
7 . . L]
© How many minutes does it take to collect I (5] _How many minutes does it take to gush |32 '2‘%
50 liters of water? - 5 litters of water? 0
10 minutes 12365678910 [l minutes 12345
(minutes) (minutes)
126 127
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Decimal Numbers-2

13- 1

&

Multiplication of Decimal Numbers ()

<=3 | have 6 cartons of juice. Each carton holds 0.3 L.

How many L of juice do | have in total?

0 03 D(Li
(P N P O
S T
According the above diagram, we can make the math sentence ‘
0.3 X 6. This multiplication problem can be solved in the
followmg Lave ‘When the multiplicand is
03 X 6 = Seeas multiplied by 10, the product
. L becomes |0 times of the
l 10 times 70 original product. Therefore,
3 X 6 = |8 the Triginal product must
be — .
Math sentence “ 10 /
03X 6=18  Answer [.8L ‘
l_l—' I have 8 bottles of tea. Each bottle holds 0.7 L. How many L
of tea do | have in total? 0 s Cem
Math sentence P Y R PO
§ T S S S R T
07x8=56 Answer 5.6 L

1_2—' There are 7 ribbons. Each ribbon is 0.5 m long. How many m

of ribbon are there in total? o o5 [T
Math sentence
L S D S S S A
05x7=35b Answer 35m
1_3—' Calculate the following multiplication problems.
@ 03x5=
O 06x2= . .
1) 0.<7><7= o 0.2><8= o ol xq=

Decimal Numbers-2

13- 2

&

Multiplication of Decimal Numbers (2)

<»[FEnE Caleulate 3.6 X 7 by using the multiplication algorithm.

3.6 3.6 3.6
X 7B X 7 9 X 7
\ 2 y 2
252 25,2

When multiplying
one decimal number
by a whole number,
disregard the decimal
point. Line up the
last digits of both
numbers to the right.

Multiply exactly
the same as if
they were two
whole numbers.

Write the decimal
point for the product
directly beneath the
decimal point in the
top number (the
multiplicand)

Calculate the following by using the multiplication algorithm.

@ 38x4 @ 46x7 @ 52x4
318 416 5,2
X 4 X 7 X 4
| 15,2 32,2 2/0.8
O 73x5 © 87x6 O 123x4
@ 156x%x3 O 278x2 © 352x8
@ 214x6 @ 345x5 @ 487x6
0| 35 |@] 522 [@] #2 |@] s [0] s |
©) 28.16 |@| 1284 |@| 1725 |@] 2922

129

130

Decimal Numbers-2

13-3

&

Multiplication of Decimal Numbers (3)

<»[FEnE Caleulate 2.7 X 32 by using the multiplication algorithm.

2.7 2.7 2.7

X 32 X 32 X 32
\

B  54® | 54

+ +8 | +8 1

181644

When multiplying
one decimal number
by a whole number,
disregard the

Calculate as if we
were multiplying
two whole numbers.
2.7.21 Ol's

Do the addition. Then
write the decimal
point for the product
, directly beneath the
"5 decimal point in the
top number (the
multiplicand)

decimal point. Line , 3,
5 4

up the last digits of
both numbers to the
right.

Calculate the following by using the multiplication algorithm.

@ 26x12 53 X |4 1.7 X 46
216 513 .7
X | ]2 X | | 4 X 416
5|2 20112 102
+1216 +/5/3 +6 8
31112 74,2 78,2
@ 38x23 © 42x18 @ 51x19
@ 48x29 © 86x69 © 59x48
@ 36x76 @ 62x57 @ 75x83
0| &7+ |@] 156 |0] %69 |@] 1392 [@] 5934 |
©| 2832 |@| 2736 |@]| 3534 |B| 6225

Decimal Numbers-2

13-4

<»[FEnE Caleulate 2.34 X 71 by using the multiplication algorithm.

Multiplication of Decimal Numbers (4)
- J

2,34 2,34 2.3 4

X 71 X 71 X 71
‘ 234‘ 2|34

+ +116/38 + 116138
| [6]6s! 4

When multiplying
one decimal number
by a whole number,
disregard the decimal
point. Line up the
last digits of both
numbers to the right.

Calculate as if we Do the addition. Then

were multiplying write the decimal

two whole numbers. point for the product
directly beneath the
decimal point in the
top number (the
multiplicand)

Calculate the following by using the multiplication algorithm.

O 257x62 O 84 x 19 © 206 x 73
215[7 841 210[6
X 6|2 X 119 X 713
5014 71569 618
1542 | (841 14 42
519134 519179 [[5/0]3/8
O 186 x84 O 736 x 67 0 859 x 39
@ 345x 63 © 456 x 58 © 535 x 43
® 637 x 76 @ 197 x 98 ® 286 x 79
0] 156.24 @] 493.2 | @] 335.01 |@] 21735 @] 26448 |
©)| 230.05 |@| 484.12 |@] 193.06 || 225.94

131
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Decimal Numbers-2
1 3 = 5 Multiplication of Decimal Numbers (5)
~ J

<»(FEnE Caleulate 1.35 X 4 by using the multiplication algorithm.

1,35 1.3]5 1,35
X 4B X 4L B X 4
AR T y3
540 154404

Line up the last digits Calculate as if we Write the decimal
in both numbers to were multiplying Ppoint for the product
the right. two whole numbers. directly beneath the

decimal point in the
top number (the
multiplicand) . Since
5.40 and 5.4 are the
same, we cross out 0.

We can cross out “0" in the
end of the number in the

decimal places.

Calculate the following by using the multiplication algorithm.

Decimal Numbers-2
13 = 6 Multiplication of Decimal Numbers (6)

u

<»[FEE Caleulate 0.348 X 27 by using the multiplication algorithm.

01348 013 4 8 01348

x 207 4 % 207 4 % 2.7
‘ \ X ‘ X

204 36 243%

+ +6.9.6 +.6/9 6 4

19,396

Line up the last digits Calculate as if we Write the decimal

in both numbers to were multiplying point for the product

the right. two whole numbers. directly beneath the
decimal point in the
top number (the
multiplicand) .

Calculate the following by using the multiplication algorithm.

® 13Bx6 @ 275x2 @ 185x4 @ 0237 x 36 @ 0.148 x 19 © 0307 x 28
11315 21715 1l8ls 04237 0,148 0.3/0]7
~ 6 © 5 % 4 X 3|6 X |19 X 2|8
[1412]2 113/13]2 2/4|5]6
8.0 5.5/0 7:4]0 +7[1]] + 148 +6]1 4
O 015x4 O 126x5 O 395x2 8:5/3]2 2:81]2 815916
@ 246 x5 O 1555 O 436 x5 O 0455 x 15 © 0528 x 17 O 0.296 x 32
46 X .85 X .36 X
@ 1562 % 16 © 0826 %76 € 1.746 x 28
O 142x5 D 1.25x4 @ 125x8 @ 2468 x 34 @ 3.085x 25 ® 4872 x 18
0] os @] 63 [@] 79 |@] 123 [@] 148 | 0] 6825 [@] 897 |@] 9.472 |@] 26992 [@] 62776 |
O 28 @ 7.1 |@ 5 @ 10 ©)| 48888 || 83912 [@] 77.125 || 87.696
132 133
Decimal Numbers-2 h 1_3—' A rectzangular flower bed is 18.25 m long and |4 m wide. How
- i ?
13 7 Multiplication Problems many m-is the flower bed? 1525m
- g Math sentence 11812]5
<»[3E05 There are |2 cans of juice. Each can weighs 0.4 kg. X |4
What is the total weight in kg? Area of Rectangule Flowerbed tim 713700
= Length X Width +/118/215
There are |2 cans.
0 os [Jee  Each can weighs 0.4 k. |825 X |4 = 2555 2151558
CITTTTTTTITTT] So, the math sentence
S A A LR Answer 2555 m’
Math sentence 0,4
x| |12 l_lu—l A gardener waters her flowerbed with | |.4 L twice a day. How
04X 12=438 much water does the gardener need in one week?
8 /A Thereare 7 days in a week. So, the gardener will water her
+ 4 u@\b flowerbed |4 times a week (2 times X 7 days = |4 times.)
Answer 4.8 kg 4.8 Math sentence
| week = 7 days
l_l—' There are some long desks. The length of the desk is .24 m. . 114
If we connect |6 desks, how many m will it be from end to end? How many times does the gardener water
i Do her flowerbed? X | |4
I I [ 1214 2 (times) x 7 (days) = 24 (times) 41506
I A A A A 16 1.4 X 14 =159.6 Tz
Math sentence
|2 x 16 = 1986 7|44 Answer  |59.6 L 115/9.6
: =19. +12]4
Answer  [9.84 m 119.814 5] My class collected 2.56 kg of empty cans cleaning our
neighborhood. The entire school collected 25 times that amount.
1_2_' There are 23 empty water bottles. If we put 0.55 L of water in How many kg did the entire school collect?
each bottle, how many L of water will we need in total?
Math sentence Math sentence
TO]SS]]]]]]]llllllllllllllm\m Ogg ?21%“”11111111\1111111111\D(km 222
X A
}}}}}}}}}}}}}}}}}}}}}}}} 01 2345678910 12 13 14 1516 17 18 19 20 21 22 23 24 25 (times)
0 za i3 evs v 0NEE s T 2D, I16]5 121810
0.55 X 23 = 12.65 + 11100 2.56 X 25 = 64 + 5012
Answer  |2.65 L 121615 Answer 64 kg 6419
134 135
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Decimal Numbers-2 h
13 - 8 Review (1)

l_l—] Calculate the following.

@ 53x4 @ 67x8 ©® 13Bx5
513 617 113.5
X 4 X 8 X 5
21112 5 3.6 6,75
O 24 x 34 © 625 x 47 O 749 x 45
@ 4.86 x 53 © 543x69 © 876 x 54
@ 2176 x 18 @ 0925 x 83 @ 1,692 x 46
0] 816 [@] 29375 | @] 337.05 |@] 25758 | @] 374.67 |
©| 473.04 |@] 39.168 | @] 76.775 || 77.832

1_2—I The length is a bridge is 34 times longer than a .55 m

Decimal Numbers-2

Division of Decimal Numbers (1)
-

<» 305 We bought 3.6 L of tea. If we share this tea equally
among 3 children, how much tea will each child get?
-
0 0 R
[ [ [ |

4 i 2

s 3 (children)

According the above diagram, we can make a math sentence
of 3.6 = 3. This division problem can be solved in the

following way. When the dividend is multiplied

|
tbe — .
must eIo /

Math sentence Answer 121 ‘

3.6 +-3=12

l_l—] 8.4 L of tomato juice is separated equally into 4 bottles. How

36 = 3 = by 10, the quotient becomes
i IR 10 times of the original quotient.
l |10 times 70 Therefore, the original quotient
36 + 3 = 12 i

?
measuring stick. How long is the bridge? many L does each bottle have? o 54 (L)
Math ) 155 Math sentence [ | | | ]
ath sentence ! | | | |
- X 3 4 84 - 4 — 2 | 0 R 2 . 3 4 (bottles)
1.65 x 34 = 52.7 6120 Answer  2.| L
+1416|5 2 A 9.6 m ribbon is cut into 3 equal pieces. How long is each
iece? =
Answer  52.7m 512,78 P! . 0 7k
|3 There are 28 canned fruits, each of which weighs 0.385 kg. Math sentence : ‘ : i
What is the total weight? 96=-3=309 : 3 pree)
013|/8]5 sy
Math sentence Answer 32m
0.385 X 28 = [0.78 X 30 é g 1_3—] Calculate the following division problems.
70700 -] © o8+
Answer  |0.78 kg [ 10l7/8Q =
136 137
Decimal Numbers-2 h Decimal Numbers-2 h
1 3 = 1 0 Division of Decimal Numbers (2) 1 3 = II Division of Decimal Numbers (3)
- -
<w 305 Calculate 7.2 + 3 by using the division algorithm. <»[3E0i5 Calculate 13.6 + 4 by using the division algorithm. y
2 2 2 1214 2 2 2 12,9
3)742 3)712 3)7.12 3)712 6)1 1312 [6)1[3l2 [6])1 312 6132
-6 ‘—6 ‘—6 ‘—6 —1]2 —1]2 —11]2 -2
| | 2] 112 | | 12 112
P - 12
i 0 i 0
Divide 7 in the Write the decimal Bring down the%Divide 12 by 3. Divide I3by 3.  Write the decimal Bring down the 2§Divide 12 by 6.
tens place by 3. point directly above 2 from the tenths;Write the quotient, 4 Write the quotient, 2 point directly above from the temhsiwﬁte th tient
Wite the quotient the dggimal point of place. |n the tenths place. in the ones place. the dggimal point of place. 2 inthe t:ngléopll:get
2in the ones place. the dividend. iMuItipIy 3by . Multiply 6 by 2. the dividend. Y —— ‘Multiply 6by2.
Multiply 3 by 2. 12 means there are twelve Subtract |2 from 13. are owelve 0.1 o
0., Subtract 12 from 12. ubtract [2 from 12.
Subtract 6 from 7.
Calculate the following b! ing the divisi Igorithm.
Calculate the following by using the division algorithm. aleulate the following by using fhe division aigortthm
© 78-3 @ 84-7 © 964 O 51-3 @ 154+7 @ 235+5 @ l4+6 O 272-+4
31718 A )96 3061 7)11514] [5)2[3[5] [er]r]4] [4])2]7]2
—T6 —I7 _I8 _13 -4 —12]0 — 6 —124
8 4 16 21 | |4 3|5 5|4 312
—Ii's 1114 —11s —121 — | |4 — 3|15 — 5|4 - 312
0 0 0 0 0 0 0 0
O 84+6 O 92+4 @ 85+5 @ 96+38 © 88+8 O 198+9 @ 261+3 © 192+2
© 64+4 @ 76+2 @ 987 @ 65+5 © B6+6 O 236+4 @ 51.1+7 @ 328+38
(5 |4 0 2.3 (7) 1.7 (8) 1.2 (5 ) 8.6 0 2.2 (7] 8.7 (8) 9.6
(9] 1.6 (10} 38 (1) |4 (12 1.3 (9) 26 (10} 5.9 (1) 7.3 (12 4.
138 139
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Decimal Numbers-2
1 3 = 12 Division of Decimal Numbers (4)

-

<w[3Eni5 Calculate 5.4 + 6 by using the division algorithm.

0 3 0 10.9]
6)5.4 6)5.4 6)514
» » s
: 0
Divide 5 by 6. Write the decimal point% Divide 54 by 6.

directly above the decimal | ,, . . .

point of the dividend. | Vite the quotient, 9, in
| the tenths place.

{Multiply 6 by 9.

Subtract 54 from 54.

Since 5 + 6 = ORS, |
write a 0 in the i
ones place.

When the quotient with 0 in the

ones place, we must write a 0.

Don't do the calculation of 54 + 54 means there are fifty-four 0.1s.

6 first.

Calculate the following by using the division algorithm.

@ 36+9 @ 48+8 @ 32-4 O 12+3
0.4 0.6 0.8 0,4
9)316 8418 4)312 3)1.2
—1316 —1418 —13]2 -1 112
0 0 0 0

© 45+5 @ 366 @ 182 @ 24+3
© 427 @ 63-9 @ 72+8 @ 16+4

O 09 |0 o6 @ o9 |©® o8
O o |® o7 @ o9 |® o4

Decimal Numbers-2
1 3 = 13 Division of Decimal Numbers (5)

o

<e[3EnS Caleulate 78.2 + 23 by using the division algorithm./

3 3 3 [314]
237 (8l2] [2]3)7]8l2] [2]3)78l2 2[3)7]|8.2
—6‘7.—6‘? 169 —16/9

q q 912 902

=T 92
0

Write the Bring down the Divide 92 by 23.
decimal point 2 from the tenths |, . .
directly above the place. Zv?:\tfhfahtee 3;’0"’:2;’
decimal point of P place.
Multiply 23 by 3. the dividend. | Multiply 23 by 4.

92 hi
Subtract 69 from 78. eANE D Subtract 92 from 92.

Divide 78 by 23.

Write the quotient, 3
in the ones place.

ninety-two 0. |'s.

Calculate the following by using the division algorithm.

@ 864 =24 @ 468+ 18 © 544+ 16
3.6 216 34
2|14))8|6]4 | 18)4]618 [16)5 4.4
—17]2 —13]6 —14|8
|44 1108 6|4
—|1|4]4 —|110]8 — 6|4
0 0 0
O 815+25 @ 992+ 32 @ 731 +43
@ 782+ 34 O 672+ 42 © 46+13
@ 663 =5l @ 8l6=17 ®» 756+ 27
o] 35 (@] 31 [@] 17 |@] 23 [@] 15 |
O 32 |® 13 |@ 4«8 |@| 28

37

140 141
Decimal Numbers-2 h Decimal Numbers-2 )
1 3 = 14 Division of Decimal Numbers (6) 1 3 = 1 5 Division of Decimal Numbers (7)
- -
<»[3E0i5 Caleulate 8.67 + 3 by using the division algorithm. <e[3EnS  Caleulate 9.826 + 34 by using the division algorithm/
0 012 0{2(8 0/2(8(9
2 2 2,8 28(7‘ 314))918[2]6 314])9:8]2]|6 314()9.8]2]6 314))9,8(2]6
3)8.6/7 [3)816|7| 3)8.67 |3])8.67 —68 —6/8 I lslels
—le6 —le6 -6 —6 ‘ 302‘ 302. 3[0]2
—12|7|2 =|2|7]2
2 26 26 26 ﬁ}i Once again, when the quotient with 0 in 3/0]6 3/0[6
— 2 4 | = 2 4_ | the ones place, we must write a 0. = 3/0]6
5 7 LI Don't do the calcutation of 98 = 34 first. 0
7 7 Divide 9 by 34.  Divide 98 by 34.  Divide 302 by 34. Divide 306 by 34.
— 217 Since 9 + 34 =0R 9, Write the quotient, 2, Write the quotient, 8, Write the quotient,
0 write 0 in the ones in the tenth place.  in the hundredth place. |9, in the thousandth
Divide 8by 3. Write the decimal Divide 26 by 3. |Divide 27 by 3. place. Multiply 34 by 2. Multiply 3¢ by 8. Pac®-
Write the quotient, 711 Arecly 850%€ yyritg 1 quotient, Write the quotient, Plite ihe sechmal Subtract 63 from % Subtract 272 from "MUIPY 34 bY .
2, in the ones place. o P 8 in the tenth place. |9, in the hundredth point directly above 302. Subtract 306 from
the dividend. place the decimal point of Bring down the 2 306
Multiply 3 by 2. Bring down the 6 Multiply 3 by 8. Multi. v 3 by 9 the dividend. from the tenths place. I?]rir;]g down thtle 6 from !
Subtract 6 from 8. from the tenths place. Subtract 24 from 26. ply 3 by 7. the hundreds place.
Bring down the 7 from Subtract 27 from 27. 68 means there are sixty-eight 0. |'s. \\:':'/
the hundreds place. 272 means there are two hundred seventy-two 0.01's.
24 means there are twenty-four 0.’s. 27 means 306 means there are three hundred six 0.00’s.
there are twenty-seven 0.01’s.
%lc"'él‘i_:; theAfollowolng ;));zsm% the gls:gjlgogthm. 0 756 Calculate the following by using the division algorithm.
—T T . o 399 = 27 859 = 805 = 4 528 + 52
BE 1078 © 5362 © 9.3 =4 @ 6.399 ©) 5859 - 31 ) 580543 (D858 +5
46152 7)7:5/6] @ 795+5 @ 394+2 : 0[2[3[7 3\0é83 © 8211 =23 @ 7.686 = 61
7)64319(9 5 5
—14 -7 . : - =
A ole @ 742+7 @O 624+3 slal . @ 7488 + 36 @ 5712 = 56
The problems €3, €) and (1) are ﬁ —[ 18]I —[2]4]8
—12 4 - 0 difictitNCanyo W solvelthem? A T81a Ttorg €@ 3268 + 76 ([ 2.747 < 41
| 2 5 6 - 18[9 - 217
2 T 56 1©]253]0]131/@[267]@] 234 0 o |@)o.135/@). 164@.35700. 126
0 0]0159|@]1.97@)] 1.06| @] 2.08 @)0-208/@}0.1021@)0.043)Do.067
142 143
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Decimal Numbers-2 h Decimal Numbers-2
1 3 = 16 Division of Decimal Numbers (8) 1 3 = 17 Division of Decimal Numbers (9)
- J -
<w[FEniiE Caleulate 46.7 + 3 by using the division algorithm. <»[FEnE Continue dividing 1.7 <+ 5 until it is divided complgely.
Calculate the quotient to the ones place, and find the
remainder. 0 0.3 ‘ 0.3]4 ‘
i 5 5 5)117 5)I170@  [5)117]0
304 6.7 30416.7 30416,7 ‘—|5l‘—|5
-3 Y= 3 Y= 3 20 2/0
| 6 |16 - 210
115 —-1115 0
L ) | . 157 Divide | by 5. Divide |7 by 5. Divide 20 by 5.
Divide 4 by 3. Bring down the 6 from Bring down the 7 from ) K ) . . ) ) .
Write the quotient, |, in the ones place. the tenths place. Slr.\ce | +5 = 0R |, Write the quotient, 3, in Write the quotient, 4, in
the tens place. " Divide 16 by 3. Write the decimal point write 0 in the ones place. the tenth place. the hundredth place.
. Write the quotient, 5, in of the remainder. The i i i i i
Multiply 3 by 1. the ones p?ace. decimal point goes in ‘é\ilrrelt:?l;r;io(f/:ﬂrzzadleﬁﬁ;: Multiply 5 by 3. Multiply 5 by &.
Subtract 3 from 4. Multiply 3 by 5. Eih:cisnilzle pprlg?ﬁ? gfs ttI!\]: point of the dividend. Subtract |5 from |7. Subtract 20 from 20.
Subtract 15 from 16.  dividend. Since 1.7 is the same as 1.7 (or 1.70) was
: 170, bring down 0 from completely divided by 5.
Chjgl; th? a;swier. B I the hundredths place.
o — RE 467 +3=15 RI7 When we continue dividing a division problem until it is
3 + 15 =17 R46.7 divided we can put O's in the dividend.
Calculate the following division problems until these are divided
Calculate the quotient to the ones place and find the remainder. completely.
Then check your answer. . ) . )
© 774627 @ 895-8 @ 452-12 O 748+ 2 D74=+5 @184 O171+6 @163+
= :R = 1148 013/4|5| @ 1647 +54 @ 3434 + 68
] 3 5))71410]14])113/8|0 @s8s5+26 @ 369=+ 18
81915||1]2)4512](2]6 -5 -2 0975 O3+
8 —13/6 214 18 o0 sl e s (9) ) (10 0 e
9 9.2 —-12.0 _ 16 put two O's like “7.00" and “3.00" respectively.
8 4]0 2/0
614 5 — a0l 5 T0 [©@-28510]0.466@)03050]0.505
Check Check Check Check
TX13+64=974][8x 11 +15=895]| 12x3+92=452]|26x 2+ 228 =748 0 0 \0\3-25\0\2.05\0\0.\2\69\0.'2
144 145
Decimal Numbers-2 h Decimal Numbers-2
1 3 = 18 Rounding the Quotients 1 3 = 19 Division Problems
- J -
<» 3015 There is a ribbon that is 7 m long. If we share this <w[3E05 We have 50.4 kg of sugar. If we divide it into |4 small
ribbon equally among 3 children, how many m of packages, how much will each small package weigh?
ribbon can each child get? Round the answer to a —
tenths of a metre. ‘
0 504 (ko) 3.6
Math sentence 21318
72320238 siolo P g )21 028
—6 t < | —14]2
Answer Approximately 2.3 m "ol Math sentence / 84
The answer is 2.66... So, we round this number — ! 2 50.4 + 14 =36 - 84
to the tenths place. The answer is 2.7. T Answer 3.6 kg 0
l_'l—l There is 7.3 L of orange juice. If we share it equally among l_l—' We have 6.6 kg of rice. We divide the rice equally into 2
6 people, how much juice does each person get? Round the bags. What will the weight be of each bag of rice?
answer to a tenth of a L. 121 I_—'rl i | 0455
Math sentence s z 2 2 s 112646
7~3+6:|~2\ 3 A ——————— —16/0
—[1]2 0 1 2 3 4 5 6 7 8 9 10 Il 12 (bags)
o t 12 | 610
Answer Approximately |.2 L — f Math sentence —TTelo
6.6 = 12 =055 Answer 0.55 kg 0
1_2—1 Calculate the following. Round the quotient to the tenths place. -
. . . N 12 We have 46.5 m of ribbon. If we cut 4 m long pieces from
1] 24'3_ =7 @ 61.7+43 @ 955+37 O 54'5_ - 19 this ribbon, how many pieces can we get? How long is the
=‘ 35 ‘ :‘ 4 ‘ =‘ 26 ‘ =‘ 29 remaining piece of ribbon?
- - . Math sentence — | ]
314[% 114]8 2158 2188 o s "N a5
7)2[413 36117 377506 [[9)6[4]5 I 4)41615
=121 —[4]3 704 —-[3]8 —| 4
3[3 118]7 2[1]5 116]5 0 2.3 4 5 6 e [ covony
- [2[8 172 —[1[8]5 —[1[5]2 465 -4 =11 R25 6
1 ES RRHH RN RS We can get || piecesand 25 m |—| |4
i Al 7 T Answer of ribbon will be left over. 215
146 147
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Decimal Numbers-2
-
1 3 2 0 Times as Many and Decimal Numbers

&

—

<»[3E015 | have a red tape and a blue tape. The red tape iﬂ

5 m long and the blue tape is 8 m long. How many
times longer is the blue tape than the red tape? :

Blue Tape 8m

Think about the following way;

Red Tapo 5m

I
Math sentence
8+b6=16

Answer

|.6 times

l_l—l | have 5 chocolates. My friend has |0 chocolates. How many
times more chocolate does my friends have compared to me?

My friend |0 chocolates

Math sentence

10+-5=2

Myself 5 chocolates

0 I (times)
Answer 2 times
1_2—1 | have 5 chocolates. Another friend of mine has 7 chocolates.
How many times more chocolate does my friends have
compared to me? My fend

Math sentence

7+5=14 /-a\nswer ‘ | .4 times

1_3—1 I have 5 chocolates. My brother has 5 chocolates. How many
times more chocolates does my friends have compared to me?

My brother

7 chocolates

Myself 5 chocolates:

2 (imes)

Math sentence s crocoates

et 5 chocolaes
5+5= 5
Answer same

1_4—' | have 5 chocolates. My sister has 2 chocolates. How many
times more chocolates does my sister have compared to me?

2+5=04

Answ%r

2 (tmes)

P A
t |
2 (times)

0.4 times

13 _ 21 Decimal Numbers-2 Review 2 ]

l_l—' Calculate the following division problems by using the division

algorithm.
O 4i-6 O 128-4 @ 084 O 72+9
119 312 012 0!8
6)1 114 40)112,8 40,8 )72
- |6 -2 - |8 —1712
5|4 8 0 0
- 5|4 — 8
0 0
@91 +17 @399+21 @9w7T+47 € 89.6=+28
©963+45 (0549913 @ 0133+7 (D 1.664+8
(1) 19 @ 32 |©® 02 |O o8
O 53 |0 9 @ 2 0O 32
O o214 @] 423 |@| o019 |@| 0208

1_2—' There is 21.5 L of lemonade. If we share it equally among 9
children, how many L can each child get? Round the answer to
the nearest tenth of a L.

Math sentence .
21.5 + 9 = 238 Answer Approximately 2.4 L

1_3—' | bought 8 new books. My older sister bought |2 new books.
How many times more books did my sister buy compared to me?
Math sentence

2+8=15 [.5 times

1_4—1 | have 19.5 L of ice tea. If we share it equally among |5
people, how much ice tea does each person get?
Math sentence

[95 = |5 = 1.3 Answer

Answer

3L

149
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< Instruction| Cuboid and Cube

<e[3enilE The figures below are a cuboid and a cube.

Solid Shapes )
Cuboids and Cubes (I)

14-1

Flat figures are called

plane shapes. Objects
® A solid shape whose faces are @ that occupy space are
only rectangles or rectangles and
squares is called a “cuboid”. Cuboids
® Asolid shape whose faces are
only squares is called a “cube”.

called solid shapes.Their
surfaces are called faces.

Cube

Side is for plane shapesand A

edge is for solid shapes.

Number of faces Number of edges Number of vertices
Cuboid 6 12 8 4
Cube 6 12 g &

9 How many pairs of faces are the same in a cuboid and a

cube? . All the faces are the

0 How many sets of edges are the same length in a cuboidy

and a cube? All the ed
. ges are of equal
Cuboid Cube length.

With the cuboid and the cube on the right, answer the following
questions.

@) How many faces are there?

Cuboid E Cube E

@ How many vertexes are there?

Cuboid Cube n

©) How many kinds of edge lengths are there?

Cuboid Cube m

—

<»[3€015 The figure on the right shows a cuboid.

Solid Shapes )
Cuboids and Cubes (2)

14- 2

o Which edges are perpendicular to edge AB?
H

AE, BF, AD, and BC
(EA, FB, DA, and CB)

9 Which edges are parallel to edge AE?

BF, DH, and CG
(FB, HD, and GC)

©)  Which faces are parallel to face a?

The figure on the right shows a cube. Answer the following questions.

@) Which edges are perpendicular to edge CG?

BC, FG, HG, and DC H G
(CB, GF, GH, and CD) e a
3
O Which edges are parallel to edge EF? . P
AB, HG, and DC .
(BA, GH, and CD) S ¢

©)  Which faces are parallel to face c?

[« ]

0 Which edges are perpendicular to face a?

AE, BF, DH, and CG
(EA, FB, HD, and GC)

© Which edges are parallel to face d?

AE, AD, DH, and EH
(EA, DA, HD, and HE)

151
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Solid Shapes

Nets (1)

<»Instruction| Disassemble the following cuboid into one figure to
investigate how it is made.

2%

Cut the coloured edges and unfold it one by one as follow:
| 2. 3

) 4em
4. 5.

® A figure drawn on a sheet of paper by

cutting the edges of a box, unfolding it and shapes depending on how

laying it flat is called a net. ‘ ‘ ‘ youcutit . ]

<e[F€n]5 Which net can form a cuboid? Fold the dotted lines
and make cuboids.

Cut a cuboid along the edges using 4
scissors.Which edges should you cut? ')“‘-_“r“k“

You can also make different

<= [F€0i;15 20 Finish drawing the net of the cuboid on the right.

I cm | o]

\ 4

o Lem

1 Dotted lines show the

edges you should fold to

‘ make a cuboid.

l_l_' Finish drawing the net of the cuboid on the right.

o 5cm

e 2cm

2em
2om sem '.’
I cm  (Example) I cm  (Example)

| cm [ I cm I I

EanaiEam HHH

o
\ \

1_2_' Draw a net of this cube on graph paper.

1] — 2]

154

1] [ 1 [ 3cm
1 | 1 | 4om
i1 ‘ I ‘ Answer Som
— — I ecm  (Example) 3cm | cm 2em
I cm | cm | 1T [
l_l_' Which net can form a cube? Fold the dotted lines and make — :
cubes.
AT B C D
| |
= I [ T
152 153
Solid Shapes ) Solid Shapes )
Nets (2) Sketch
J J
<»[3€niJl5  We are going to make a cube by folding the net <wInstruction! How to draw a figure that shows the full shape of a
below. cuboid.
o Colour the face opposite the shaded |. Draw three edges | 2. Draw the visible | 3. Draw the invisible
’\.A face. from one vertex. edges. edges using a dotted
Y @ Circle the vertexes that match up with “ne.'. S
© K vertex G.
F G 4
@ Which edges match up with edge AP? Answer| MLCLM) | | ] o= N DN
@ Which faces are perpendicular to edge EH?
Answer T ® A diagram that shows a quick | When drawing a figure, you
view of the whole object is called
a sketch.
o . . . @® In a sketch, we draw parallel
.1 We are going to make a cuboid by folding the net below. edges as parallel lines.
A
o Colour the face opposite the shaded
c_ B L face. <= [F€lil5 Finish drawing the sketch of the cuboid as shown
R's @ Circle the vertexes that match up with et
vertex M.
D 3 K Draw the invisible
@) Which edges match up with edge CD? edges using dotted
F G lines.
@ Which faces are perpendicular to edge HN? """ LK(KL) -\
1_2—' Colour the face opposite the marked face. o e
feeeeee e oo e
b . e E .
e i
.5. SEREEEE
. L . e R
[ R R
,,/ ........ . e
155
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Solid Shapes
ﬂ@h = (‘5 How to Express Position (1)

<» (@€ On the grid paper shown below, the length and
width axes are numbered. Point A is represented as
(l'and 2).

y 2
od

o How can you represent the position of

A Point B?
B (3and 1)

545 ) The position of Point D is: (4 and 4).
Width Draw Point D in the figure on the left.

ybus
o — v w s o

l_l_' On the grid paper shown below, the length and width axes are
numbered. Point A is represented as (I and 3).

z o How can you represent the position of
oA Point B?
32 D (2and I)
5 | B
@) The position of Point D is: (5 and 2).
0 2 345 Draw Point D in the figure on the left.
Width
1_2—' On the grid paper shown below, the length and width axes are
numbered. Point A is represented as (I and 4).
Z D o How can you represent the positions of
5 Point B and Point C?
g LlA AR )
35 v PointB | (6 and 4)
7, AV
e PointC | (2and |)
0 I 23 45 67 () Theposition of Point D is: (4 and 6).
Width Draw Point D in the figure on the left.

©) Draw the following points in order and connect them with lines.
Point A(l and 4) — Point B — Point C — Point D (4 and 6) — (5
and |) — PointA

Solid Shapes
ﬂéﬁ = W How to Express Position (2)

<»[FEnE Every position in the space is represented by three
numbers. The position of the pen is 2 width, | length,
and 2 height. We express the position as (2, |, 2) .

J

7/ | @ Represent the position of following
(4 of  items.

4,2,1)
OF Eraser

2 3 4
@ Whatitem is in position (4, 0, 3)?

Notebook |

The position of the doughnut is | width, 2 length, and 2 height. We
express the position as (1, 2,2).

=i
)9 o Represent the position of following
r T & items.

4 Chocolate
177 629
7 o
@ Whatitem is in position (I, ,2)?

Banana

©) Whatitem is in position (4, 0, 0)?

5 Pizza

41

156 157
Solid Shapes 1_5—' Finish drawing the sketch of the cube as shown below.
|
ﬂ@h . Review o
1_1—' Fill in the blank with the name of the figures. g o
o (2] (3 i SO
Cuboid ‘ ‘ Cube ‘ ‘ Cuboid
1 . .
[2] Finish drawing the net of the cuboid on the right. i Oon the e (o e widih axes are numbered.
I cm (Example) 10
I em C @) How can you represent the
positions of Point B and Point C?
1L 3cm 4cm 7
i ! i 3em 5 PointB | (8and |)
t f t ; S PointC | (5and 9)
f @) The position of Point D is: (5
Al B and 4). Draw Point D in the figure
0 12345678910
1_3—' Which net can form a cube? Fold the dotted lines and make Width on the left
cubes. © Draw the following points in order and connect them with lines.
A B c D Point A(2 and |) — Point B — (8 and 7) — Point C —(2 and 7)
- — PointA — (8 and 7) (2 and 7) = Point B
II | Answer l_'l—' The position of the bicycle is | width, | length, and | height.
We express the position as (2, I, 2).
l_"—l Colour the face opposite of the marked face. ]
o= T Represent the position of following items.
o o o 1 p p 9
30 T Bus 4, 1,3)
» /T _ )
IEII yarwe Bike
07123 4
158 159
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1 5 = 1 Expressing Fractions (1) 1 5 = 2 Expressing Fractions (2)
- J - J
< Instruction. Four pieces of tape are shown below. How many <= (3015 1 Write the total amount of water as an improper
metres long is each piece? fraction and as a mixed number.
oA I T ] &m I L L

13 3 B B
mepeo[ 1 1 1T T [ L [ [ 1 i 0] gmor2gm Lor
4 4

l_l—] Write the total amount of water as an improper fraction and as

Fractions where the numerator is less than the denominator, such as a mixed number.

4 .

5 called proper fractions. L e Lor
Fractions where the numerator is equal to or greater than the T T
denominator such as % 5 and I—sa are called improper fractions.

Fractions expressed as a combination of a whole numberand a proper — — - -
fraction such as | 5 and 2% are called mixed numbers. |€ is read L — —

as “one and two fifths.”

<= [3€l15 2 Write the appropriate improper fraction in the
<»[3€0iJl5 Write down the length of the tape as an improper pprop Pr pﬁ l:l

fraction and as a mixed number.

Tape
T T 4 m or 4 m
0 i 2 3 (m) |

Show the length of the following tapes by using both the improper
fraction and mixed number.

R I [ 1_2—' Write the appropriate improper fractions in the|:| , and mixed
L L L | L L | L 2
0 3
; | 1
160 ‘ o o 161
) )
1 5 = 3 Expressing Fractions (3) 1 5 = 4 Expressing Fractions (4)
- J - J
<»[3€0;1E Change % into a mixed number. <»[3E0[I3 Change 2 % into an improper fraction.
1 2 3 23
‘//—;5_\; 5, ‘/‘1_\‘/5\ s 5
0 I 2 5 0 | 2 3
wn o OD
|| _ 3 Because | is the
I = = = ud
B) B) z 5 5 same as five L‘s,
. I | % 3 13
||T5:R gz 2@ 5x2+3 = 2mustbe\03‘s, 2€= 5
Change the following improper fractions into mixed numbers or Change the following mixed numbers into improper fractions.
Wh°'e‘;“mbe’s' . O I+ 3xi+i=4 @ 4 4xli+1=5
03 12+5=2 R2 07 9+4=2 RI % 5
22 24 , : . ‘
13 7 04€ 5X4+2=22 03? 6x3+5=23
- I3+3=4 RI - 7+2=3 RI
0 ; 0 - 2 5
iy 3+ 5 6
4 3
2 — TX2+4=18 4 — 8X4+3=35
e? 0:7=4 R2 o% 56+9=6 R2 0 25 0 43
2 2 18 £
4 - 6 7 | 7 ; 8
0% 3 26=5 RI 0% 0=-8=5 057 2x54+ =11 037 9x3+5=32
| 1 32
5 3 5 2 9
35 L 28 e il - 2 -
07 3% +4=8 R3 ®€ 28+5=5 R3 046 6 X4+ 1 =25 @63 IX6+2=20
3 3 25 20
8% ° 6 3
162 163
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p
1 5 = 5 Comparing the Size of Numbers (1)
-

J

<w[3¢ri:15 Use an inequality symbol (< or >) to express the
relationship between the two numbers.

2 5
7"37

Compare them as mixed Compare them as improper

numbers: fractions:
2% _ 44 5 _ 2%
7 = 7 - 7
25+-7=3 R4 7X3+5=26

Therefore, this problem is... Therefore, this problem is...

ag[<]on 7[<]7

It is easier to compare the two numbers if they are both

mixed numbers or both improper fractions.

Use an inequality symbol ( < or > ) to express the relationship

N

g
1 5 = 6 Comparing the Size of Numbers (2)
“ J

<[5 Putthe numbers in the () in order from the largest
to smallest.

7 3 |15
§v2§v§9

Compare them as improper fractions:

,3 _ 19
8 - 8 It is easier to compare
the three numbers if
8x2+3 = 19 i
they are all mixed
numbers or all improper
3 15 7 fractions.
Answer 2@ » ? » ?

Put the numbers in the () in order from the largest to smallest.

SIRY

2,1 9 12 |
0[5,25, 5] Answer ?“2?.

between the two numbers.
20 5 20 5
23 i (2) [* 3, 2+ ] Answer | 3 ‘» = ‘» 22
(1] e 7 54 7 7 7 7
30 5
o o 6 4 6 3) é, 33, 4 Answer | 2 B 4 B 32
6 6 - 6 6
22 2 Answer
“ °% . o714 3 962 SL 7Ll o7 Mol
o o 26 0 | 4 47 4 4 4 4
3 3 Answer
45 4 70 o8 8 8 70 o 68
o o 7 6= 9[:q,8q,q,8 s B 8 e e
164 165
( ) ( N\
1 5 = 7 Fractions of Equal Size 1 5 = 8 Addition of Fractions (1)
- J “ J
<3 Look at the number line below and find two fractions e JExample) My mother made milk tea by mixing . L of milk
that are exactly equal i size to 3 and % L of black tea. How many litres of milk tea
‘ did she make?
0 €L
‘ H ‘ I I |
In which two number . ¥ ‘ . | | Milk: Four ='s
lines does the blue 0 + | |
line land on a tick ' - * * Black Tea: Three 5 's
mark? Now what is ® |, ‘ ‘ . . — * |
the fraction for that o+ | — — Altogether: Seven — s
tick mark? — T : - - - - 5
o T [ . . Milk Black Tea
1 Math sentence 4 3 _ 7
0 B [ —+t ==
Answer ' \; ' ' ' ' ' ' ' ' ' When proper fractions have the same 5 5 5
5 3 9 “* P R S denominator, add the numerators only. Answer % Lorl % L
——and 0 10
6 9 S A
It is fine that the answer will be either improper fraction or mixed number. é\"'/}t
Look at the number line above and answer the following questions. 1_1—1 | have two pieces of tape. One is % m long and the other is
@) Find the fractions that are equal in size to % . % % m long. How long is the total length of both pieces together?
Math sentence S + s = 10
@) Find four fractions that are equal in size to L2245 T Answer 10 mor | 2 m
q 2746 810 ANSWer 75 7
9 4 5 1_2_' Calculate the following addition problems.
©) Find the fractions that are equal in size to 3 - e 2 2 4 | 5 6 1 4
O 3+5 335 | @ gt97 77
L | |
@ Which is greater, - or — ? — o3| 14 54 7.5 | 12
6 7 6 05+5 5or25 04+4 4or3
- 3 5 3 14 3 17 8 15,5 |20 10 2
~ or—= 2 = L = R ES
©) Which is greater, Tor g 7 5 (5} Tt g g orlg (6 ) st 5% 3 %73
166 167
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15-9

Addition of Fractions (2)

< EELGIE I Caleulate

Calculate the whole number parts and the fraction parts separately.

| 5
25+I5

It is also fine to change the mixed number to
an improper fraction and to calculate.
mne

2.,
i:||5+45

3

1' Calculate the following addition problems.
28 | 4
— 4972
(2} 7 2 7

2

5|

+

]
5

<SEELTDR) Calculate 2 > + %

Calculate the whole number parts and then write the fraction part.
2 =2

oo

=3

5

As same as Example |, it is also fine
| to change the mixed number to an
5 improper fraction and to calculate.

2 4 _[12
2,4 _[12
25* 575

1_2—' Calculate the following addition problems.

<SEELTE) Calculate 3+ | =

5

It is also fine to change both whole
number and mixed number to improper
fractions and to calculate.

168

L1 5 = 10 Subtraction of Fractions (1) )

Sy Example;

My mother made % L of orange juice and % L

of apple juice. How many more L of orange juice
did she make?

IL IL IL |

[ [ [ Orange Juice: Seven 5

L L — Apple Juice: Four % 's

’ . S
Orange Juice Apple Juice The difference: Three 5 S

Math sentence

‘When the denominators of both 5
fractions have the same number, 4
subtract the numerators. Answer ?

l_l—' | have a % m red tape and % m white tape. How many

more metres of red tape do | have?

Math sentence 1_6_5 Answer % m
7 7 7

1_2—' Calculate the following subtraction problems.

0_4_| 6 W_4_ 17 .,
0 779 7 @ F-33023

3_8_| 5 9_5_| 4
© g-5- 9 0 7-7= 7

14_7 _ 2 0_5_[ 5
@ 55953 0 -9 <

8 4 _| 4 L T7_4_| 3
QO 3333 0 53 5

169

&

15-1

Subtraction of Fractions (2)

< EEnGIE Il Calculate 3 %— =

Calculate the whole number parts and the fraction parts separately.{ . -

5

SEELB2) Calculate 2 -+

Make the fractional part of the mixed number an improper fraction by re- |
grouping and then calculate. b

gl _4 _6_4_ 2
5 5 5 5 5

5 b5

It is also fine to change the mixed
number to an improper fraction and to
calculate. o L _
5

5

5

5

5

1_2—' Calculate the following subtraction problems.

2]

33

e 3ELIE 30 Calculate 2 L

Change the whole number to the fraction and then calculate it.

3

It is also fine to change the mixed
number to an improper fraction
| 2 completely and to calculate.

] SN2
33

170

15 = 12 Review ]

l_l—] What fractions are represented by the tick marks labeled o
and ) ? If the fraction is greater than |, express it as an
improper fraction and as a mixed number.

1] (2] (3]
T AT
0 | 2 3
o% O%orl% 0%0&%

1_2—' Write the fractions in the ( ) in order from the largest to smallest.
13 2 I

O[F 3?: 5 Answer 3%‘. 13 . %
5 28 3

(2] [2 FEE 3?] Answer 3% ‘» % ‘» 2%
22 3

0[7' 3.3 ] Answer 3%‘. %“

o X e s fine that the answer will be eitherse
|3 Calculate the following problems. improper fraction or mixed number.

2 4 2 5 7 4 2.2
o L+ 6|7+379\7+370|?+?

013 ©4-% 0430745
3 _ 4 5_7 -7 A
04? 5 ®3q 9 U @ 3-1 9
6 I 7 43 2 47 I 7
o€or\?047or79570r702?0r?
17 | | I 2 5
OQsoréo 7 025or50\3or3
4 19 25 | 9 5 14
o3€or€®27or70 I§0r§® \7or7

171
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Number & Operation

Entire Grade-4 Review ()

1) Fillin the table and write the number out in words.

e e I e I R e B e |
| =

Ones

Bions | mions | Trowanas |
1) 3172586000 [ [a]1J7]2]5][8]6J0]J0]0
Three billion, one hundred seventy-two million, five hundred eighty-six thousand.

[2]0f6[3[o[I[2]0f0f0T0

Twenty billion, six hundred thirty million, one hundred twenty thousand.

2 20630120000

2] Answer the following questions.

1 What is 350 million times [0? | 3 billion 500 million (3500000000)

2 What is 80 million times 100?

3 Whatis 2 million times % ?

8 billion (8000000000)

200 thousand (200000)

3) Round the following numbers to the indicated places.

10000

7086000

1. 14576 (ten thousand place)

2 7085731 (one thousand place)

92900000

3 92860746 (hundred thousand place)

4] Estimate the answers of the following as rounded numbers
and then choose the correct answers from (a) to (e).

D 613x48 @ 201462+ 73 nn (b)

(a) 29, (b) 294, (c) 2942, (d) 29424, (d) 294249,

5 Calculate the following division problems by using the algorithm.

&) Calculate the following problems by using the algorithm.

Calculate the quotient to the ones place and find the remainder.

D8s <5
(@] 16r¢ [@] 3R [@] 1 R2%|@[29R 12]®] 5RO |

2 235+ 7 (3596 + 52 (4708 + 24 (8 425 + 73

1) Calculate the following problems by using the algorithm.

1527 + 4.83 (2 0.289+0.052(3 9.24-834 (4 5-0.124
538X%x6 60142 x35 (1203 +7 8 246+ 12
1 10.1 2 0.341 3 0.9 4 4.876

5 22.8 6 4.97 7 2.9 8 2.05

8] Change the following mixed numbers into improper fractions,
improper fractions into mixed numbers or whole numbers.

P2 @12 02 o2 o2
OEAORACEACDA0KE
9) Calculate the following problems.

D 22 @3F+21 @ T-3 @ o-4f
‘I %or\%‘z‘é%or% 3‘ % ‘b‘\%or%

10) Answer the following questions.

1 There are 168 sheets of paper. If 26 sheets are given to each
student, how many students will get paper and how many sheets

i 2
of paper will be left over? 6 students will

get paper and 12
sheets will be

[68 + 26 = 6 R |2 Answer leftover.

2 There are |12 packages, each of which weighs 3.8 kg. What is
the total weight of all packages?

Math sentence

45

178+6 (@22324+9 @504 +6 (48428 (5432+36
Math sentence
@ 5 @ % @ » [@ s [® 1~ | 38 x 12 = 45.6 Answer  45.6 kg
172 173
2 Rhombus
. - A
Entire Grade-4 Review (2) o
1) Measure the following angles with a protractor. s o Side CD
Angle ais & AngleD | 60" | Angiea | 120
Angle b is 5) We are making a rectangle with a length of 10 cm by bending
a 30 cm wire. What is the area of the rectangle in cm*?
Angle g is 10cm Math
2] Two different set squares are used to make angles as follows. ﬁ sentence 30 — [0 X 2=10,10+2=05
Find the size of each marked angles. 0 x 5 =50
2
A
Angle a is Angle b is nswer 50¢
&) Inthe following rectangular field, the width of the path is 10 m.
o How many a is the area of the field?
Om Math 30 X 15+ 35 % 30
sentence = 450 + 050
8] Which of the lines shown in the figure below are the following? = 1500
) ) ) 30m
1 Pair of perpendicular lines Alternatively, 50 x 30 = 1500
2 Pair of parallel lines I = Answer 1500 m*or 15 a
Perpendicular
You can calculate the area Alternatively, you can move the
A Parallel separately. m i el e e
g (M0 @O 4 [0« 5
c
D 1) We are going to make a cube by folding the net below.
i i M L
4] Find the following lengths and angles. i Colour the face being opposite of the
1 Parallelogram A N K_J shaded face.
D R s | T U
B E ® e H (2 Circle the name of vertexes matching up
A v with vertex D.
SidenD [ 3am | side oD L
3 Which of edges matching up with edge AB ,
250m 0. Angle A AngleD | 65 answer | JH (HJ)
5 L som 4 Which faces are perpendicular to edge NF , _...
174 175
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JICA 4% _fREM

Change & Relation
Entire Grade-4 Review (3)

1) Iread |5 pages of 240-page book every day. Let's answer the
following questions.

1 Summarize the relationship between the number of read pages
and number of remaining pages in a table.

[15]30[45[60]75]90105]

[225]210]195[ 180]165]150]135]

[Number of read pages
\Number of remaining pages

2 If the number of read increase by |5 cm, how does the number

of remaining pages change?
Decrease by 15 cm

3 Looking at the table and let's make a math sentence that the
number of read pages is O pages and number of remaining

is [] .
pages is [] pages 20— O

4 If the number of read page is 150 pages, what is the number of

L >
remaining pages? 90 pages

1 Summarize the relationship between the hour and distance to
go in a table.

[Hour [o] 1 [2]3]4]5]6]7[8]

|Distance to go (km) | 0 | 40 | 80 | 120]160]200]240(280]320] --- |

3 Looking at the table and let's make a math sentence that the
hour is O hour and the distance to go is [] km.

2| Weride a bus. The bus goes 40 km par an hour.

40 xO=1
4 If you ride the bus 6 hours, how many km you can go?

240 km

5 My sister live in the village 140 km away from my house. How
many hours will it take to get to my sister’s village by this bus?

3] There are the potato in the shops. | kg cost 300 zeds.

1 Summarize the relationship between the kg of potato and price
in a table.

[Kgofpotato| 0 [ I [2 [ 3[4 [B5[6[7[8[9]I0]

|zeds (Price)| 0 |300]600[700]1200]1500] 1800]2100]2400]2700]3000]

2 Look at the table and draw a graph.

(kg)

9

— N W s o o

500 1000 1500 2000 2500 3000,
(zeds)

3 If the kg of potato increase by | kg, how does the price
change?

Increase by 300 zeds

4 Looking at the table and let's make a math sentence that the
kg of potato is O kg and price is [] . 0

5 If we buy |0 kg of potatoes, what is the price? 3000 zeds

o
X
O

6 If the price is 2700 zeds, how many kg of potatoes did you
buy?
9 kg

7 If you buy 2.5 kg of potatoes, how many kg of potatoes can

buy?
you buy 750 zeds

8 If you have 450 zeds, how many kg of potatoes can you buy?

176 177
s oy 7
Entire Grade-4 Review (4)
4 If you have to sow seeds before rain, in which month is the
1) Afarmer is considering planting plans. The table below shows most appropriate?
grand temperature in a line graph and number of rainy days in
a bar graph in each month. Finish drawing the line graphs and
answer the following questions.
Month Jan | Feb | Mar | Apr [May | Jun | Jul |Aug | Sep | Oct | Nov | Dec 2] Ateacher planned to have an online lesson and investigated
Temperature in 0o 100 or [or ool oe |06 07 | o8| 08 26| s !f his cl'assmates had PCs or smartphones. The following
country A (C) information was gathered.
:umper of rainyA ololololololslolslalols ® 24 children have PCs.
é;’;)'" country ® || children have PCs and smartphones.
Ground tomperatures and number of rany day in County A @ 8 children have smartphones but no PCs.
(e % 2y @® |3 children do not have smartphones.
® Aboy's class has 37 children.
g H 1 Fill in the blank of the table with the numbers of children you
: H know.
g ©g \ PCs Total
s Have |Do not have
Il 8 19
13 5 18
24 13 37
10
2 How many children do not have neither PCs nor smartphones?
JCLITITTE . 3 How many children only have PCs?
5822833 c28& men
1 In which month was the temperature highest? How much was
it?
Month: | September, October | Temperature: E c 4 How many children do not have PCs?
2 In which month was the temperature lowest? How much was
it?
Month: Temperature: T 5 How many children have smartphones?
3 In which month was the number of rainy days most? How
many days were there?
178 179
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